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Board of Intermediate Education e
Bakhtiari Youth Center, North Nazimabad,
Karachi - 74700 ;

No.BIE/CONFD/166 /2016 Dated: 02.11.2016

To,

The Principals of all Recognized Intermediate Colleges &
Higher Secondry Schools,

Karachi Region,

KARACHI.

SUBJECT: MODEL QUESTION PAPERS FOR HSC PART-1 & PART-II ANNUAL EXAMINATIONS

2017,

The Board of Intermediate Education, Karachi has prepared
new Model Question Papers of Science and Compulsory Subjects through
senior Professors for HSC Part-I & Part-ll, Annual Examinations 2017 in the best |
interest of the Students. The same are enclosed herewith for your &

information and necessary action.

It is pointed out that if any error / mistake is found, this may
be indicated within 15 days. If your reply in this connection is not received
within sfipulated time, the said Model Question Papers will be deemed
finalized.

Copy forwarded for information to:

e P.S. to Chairman Board of Intermediate Education, Karachi.
e  Deputy Controllers of Examinations, Board of Intermediate Fducation, Karachi

(SECRECY OFFICER)
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BOARD OF INTERMEDIATE EDUCATION, KARACHI

LIST OF SUBJECTS / PAPERS
NEw MobpgL QuesTioN PPAPERS
H.S.CPART-I & II ANNUAL EXAMINATIONS 2017

SR.NO

NAME OF SUBJECT VERSION PAGE
1. URDU (NORMAL) (C) PAPER-1 URDU 01
2. URDU (NORMAL) (C) PAPER-II URDU 04
3. ENGLISH (NORMAL) (C) PAPER-I ENGLISH 07
4. ENGLISH (NORMAL) (C) PAPER-II ENGLISH 09

ISLAMIC EDUCATION (C)

ENGLISH & URDU

11

PAKISTAN STUDIES (C)

ENGLISH & URDU

15

CHEMISTRY PAPER-I

ENGLISH & URDU

18

CHEMISTRY PAPER-II

ENGLISH & URDU

PHYSICS PAPER-I

ENGLISH & URDU

10.

PHYSICS PAPER-II

ENGLISH & URDU

37

11.

MATHEMATICS PAPER-I

ENGLISH

41

12.

MATHEMATICS PAPER-II

ENGLISH

13.

BOTANY PAPER-I

ENGLISH & URDU

14.

BOTANY PAPER-II

ENGLISH & URDU

53

15.

ZOO0OLOGY PAPER-I

ENGLISH & URDU

57

16.

ZOOLOGY PAPER-II

ENGLISH & URDU

17.

COMPUTER SCIENCE PAPER-I

ENGLISH

18.

COMPUTER SCIENCE PAPER-II

ENGLISH
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Confidential Section,
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(xix) William Wordsworth was the distinguished poet of:

BOARD OF INTERMEDIATE EDUCATION
INTERMEDIATE EXAMINATION, 2017 AL

MODEL QUESTION PAPER
ENGLISH (NORMAL) -1 (COMPULSORY)

CHI

Time: 20 minutes Max M
SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) M.C.Os
Note: i) This section consists of 20 part questions and all are to be
answered. Each question carries one mark.
i) Do not copy the part questions in your answerbook. Write
- only the answer in full against the proper number of the question and its part.

1. Choose the correct answer for each from the given options:

(i) My Bank Account is a comedy of: ;
actions -

i’ errors A ideas *
(ii) The Miracle of Radio focuses on the wonders of:

” radio » television * wireless waves
(iii)  Sergeant Manning investigates the crime:

* passionately * rationally " obstinately  *

(iv)  The Wolves of Cernogratz reflects:

. pretensions *  vanity . simulation  *

(V) Mrs. Meldon’s maiden name was:

. Hannah » Charlotte » Katherine *
(vi)  The roots of English language were laid down by the:

S Germans g French " Romans g
(vii) The Incident of the French Camp was narrated by:

# Napoleon 2 the wounded soldier

H commander of the army " a French soldier

* Britishers * French * Russians »

- (ix) Bois de Vincennes is situated in the outskirts of:

. Yanina » Paris - Manchester ¥
(x) On Birkenhead, there was a great:
. enjoyment o hue and cry * panic »
- (xi)  The Countess of Morcerf descended from:
iy Catalonia < Paris . London i
(xii) One of the guests at White Hart Hotel was:
" Abbot Lop Charlton " Manning o
(xiii) Henry Corrie considers woman as:
» intelligent o devoted » fussy "

~ (xiv) ‘I see the cloud on your brow’ are the words spoken by:
Count of Monte Cristo * Countess ¢

» Beauchamp * Albert *
~ (xv) Patriotism is the theme of the poem written by:
. Henry Wotton * Oliver Goldsmith
i Sir Walter Scott c: Coventry Patmore
. (xvi) An annual event of the Two Minutes Silence is observed in:
" Germany - France " Japan s
(xvii) England is a part of’
* Britain . Sweden 2 Italy "
(xviii) William Shakespeare died in:
f b 1610 A.D. G 1612 A.D. o 1614 A.D. *

. 17" century  * 18" century  * 19" century  *

- (xx) The literary form Sonnet came in Britain from:

» Italy * Greece = Spain *

L R YT

manners
* | ultraviolet we
annoyingly
dissimulatidn
Julian

English

 (viii) ‘If they won’t pay my price, I will offer it to somebody else’. The pronoun they refers to :

Americans
Rome
discipline
Rome

Johnson

perceptive

England
Belgium

1616 A.D.

* 20™ century

France




| BOARD OF INTERMEDIATE EDUCATION, KARACHI B&n L__
| INTERMEDIATE EXAMINATION, 2017 (ANNUAL) "

| Time: 2 hours 40 minutes MODEL QUESTION PAPER Max Marks: 80
w: ENGLISH (NORMAL) PAPER- U R

SECTION ‘B” (50 Marks)
| (SHORT-ANSWER QUESTIONS)

’ NOTE: Attempt TEN part-questions from this section, selecting at least two part

1 questions from each sub-section. Answer should not exceed SIX sentences.
All questions carry equal marks.

: 2 Sub-section I (Intermediate English Book-T) 3
-‘ ) What was the state of the Muslims in United India before the
i creation of Pakistan? ig
(i)  How did the British soldiers maintain discipline on Birkenhead? '
(iii) What are the strange events that happened at the time of a
Cernogratz’s death in the castle of Cernogratz?
(iv)  What is the origin of the word TELEVISION? What does it mean?
Sub-section II (Selections from English Verses : Part-

‘wi'ﬁ SN

).
(v) What are the carols and when are they sung? ?
(vi) How does Wotton’s happy man spend his days and nights?
(vii) What kind of land does fall a prey to “hastening ills” as stated by i 75
Oliver Goldsmith?
(viii) How does an unpatriotic man meet double death? i
Sub-section III (Two One-Act Plays) ! #

(ix)  What was the crime committed by Fernand Mondego in 18237
(x) Mention two dominating qualities of Albert’s character.
(xi)  What was the justification of Henry Corrie given to Mrs. Meldon for
not receiving her at the railway station?
(xii) How does Henry Corrie think of war? - ‘
Sub-section 1V (Grammar) 4
(xiii) Correct the errors / omissions of verbs, prepositions and articles.

(a) The English is a difficult language.

(b) The cat sprang on the table. 1
(c) A green and a blue bird was caught. E
(d) Where you spent, last Sunday? A

(e) He had died of heart failure.
(xiv) Use any THREE of the following pairs of words in your own
sentences.
Story, storey : excess, access: pray, prey: break, brake: black, bleak N
(xv)  Write the meaning of any FIVE of the following words or phrases: i
mistrustless; detective; to be bumped off; loquacious; Bl
lump sum; religious maniacs; legend; duel; dragged down into the

mire. : 1
(DETAILED-ANSWER QUESTIONS) (30 Marks) o
NOTE: Attempt all questions from this section. All questions carry equal =
marks. £
3 Write a letter to the editor of a newspaper demanding for a public libraryin =~
your locality. OR
Write a story on any ONE of the following,. i
(i) Tit for Tat (ii) A stitch in time saves nine.
4 Write a paragraph of about 120 words on any ONE of the following topics.
(i) Internet (ii) A Morning Walk (iii)  Friendship
5 Translate the following sentences into English.

o e 1 Tip e G
Gk e L S n @)
Bl i)

W gt (v




BOARD OF INTERMEDIATE EDUCATION, KARACHI

INTERMEDIATE EXAMINATION, 2017 (ANNUAL 09 &
" MODEL QUESTION PAPER .
Time: 20 minutes ENGLISH (NORMAL) PAPER-II (COMPULSORY) Max. Marks: 20
SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS - M.C.0Qs.)
NOTE: i)  This section consists of 20 part questions and all are to be answered. Each question carries one mark. e
ii) Do not copy the part questions in your answerscript. Write only the answer in full against the proper number of the
question and its part. '
1. Choose the correct answer for each from the given options: "
(i) Alford Lord Tennyson belongs to the: g
4 Renaissance Age i Augustan Age * Victorian Age * Reformation Age
(ii) Shakespeare was a matchless: i
4 playwright o historian i novelist . orator e
@iii) John Galsworthy was considered a humanitarian moralist by: " 8
* Oscar Wilde * Joseph Conrad * T.S. Eliot * Ezra Pound
(iv) Einstein points out that each of us is in the world for: 48
» along time * a brief sojourn * enjoyments ¥ observation
(v) The word chauvinism means patriotism of this kind: :
> finest * genuine » distorted - praiseworthy
(vi) Livens girls case relates to the issue of:
" silver box » purse of a lady . theft . breaking of a fan
(vii) And now a bubble burst and now a world. This verse was composed by:
» Arthur Hugh Clough > John Keats
c John Milton * Alexander Pope
(viii) At the time of separation, the Muslim population in the sub-continent was:
» 70 million  * 100 million ¥ 200 million * 300 million

(ix) Out of The Six, one foreigner is: :
. Rupert of Hentzau  * De-Gautet  * Krafstein . Lauengram

(x)  The writer of the letter asking Princess Flavia not to accept the invitation by Michael is: _ :
* Rudolf Rassendyll  * Countess Helga . Mauban . Count Fritz
(xi) The first who notices Rudolf Elphberg’s duplicate in Ruritania is:

- Josef ¥ Max Holf " Johann " Bersonin
(xii) ‘Drunken dog! But I have eaten his bread’. These words are of:
¥ Burlesdon G Colonel Sapt i Strakencz ' Featherly

(xiii) Musical melody does not require knowledge of language, but has its own appeal. The idea comes f
g The Solitary Reaper * Music when Soft Voices Die

* Endymion . Ulysses

(xiv) Mrs. Oakentubb was driving her car:
3 on a highway 21 on a thoroughfare
* in a built up area 4 in an underpass

(xv) Inthe Day the Dam Broke the person speaking in the manner of Julius Caesar was: =
. Dr. Mallory * Edith Taylor * Robert Browning " Darius Conning

(xvi) The one who intended to support Mr. Jones statement was:

* Roper * Relieving Officer  * Jack Barthwick *  John Barth
(xvii) ‘I mean to show you of my strength yet greater’ is stated by:

X Rupert » Rassendyll > Samson * Marlowe
(xviii) Bertrand Russell pins hope of bringing peace, progress and prosperity on: '

» west » east y north » south
(xix) The relation of Rose to Rudolf Rassendyll was:

. sister » wife » mother i sister-in-law

(xx) This literary piece is regarded as John Keats’ masterpiece:
" An Essay on Man " Ulysses * Endymion  * Samson Agor




BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION, 2017 (ANN 10

(MODEL QUESTION PAPER)

Time: 2 hours 40 minutes ENGLISH (NORMAL) PAPER Il (Compuisory) Max. Marks: 80

(SHORT-ANSWER QUESTIONS) (50 Marks)

NOTE: Attempt TEN part-questions from this section, taking at least two part questions from each sub-section.
Answer should not exceed SIX sentences. All questions carry equal marks.

®

(i)
(iii)
(iv)

)
(vi)
(vii)

(viii)

(ix)
(x)
(xi)
(xii)
(xiif)

(xiv)

(xv)

NOTE:

< !

Sub-section I (Intermediate English Book-1I)

What are the bases of modern cosmopolitanism as suggested by Bertrand
Russell?
How did Dr. Mallory take the so called flood water gushing after him?
Why is the origin of life still a riddle to the scientists?
How does Liaquat Ali Khan argue that newly freed nations of Asia will not find difficult to
preserve their independence? _

Sub-section-II_(Selections from English Verse : Part-II)
Describe one of the examples illustrating that struggles always bear fruit.
State the sources of beauty as mentioned by John Keats.
How does Ulysses encourage his companions for further adventures?
How does Shakespeare mock at the temporary situation of the human beings and that of the
world?

Sub-Section II er of Zen

Describe the death scene of Black Michael.

Throw light on the contents and significance of Mauban’s letter to Flavia.

Describe two distinguishing qualities of Col. Sapt’s character.

Where was King Rudolf Elphberg imprisoned? Name the person deputed to look after him.
Sub-section IV (Grammar)

Use any THREE of the following phrasal verbs in sentences:

to stand by, to call off, to take after, to make out, to bring up, to turn down

Use any THREE of the following pairs of words in your own sentences.

practise : practice, corporal : corporeal, set : sat, flour : floor, farmer : former, access; excess
Write the meaning of any FIVE of the following words or phrases:

gang one’s own gait; manslaughter; sinister application; charwoman;

imperialism; brief sojourn; endeavour; solitude; antagonist; chauvinism

ECTION ‘C’
(DETAILED-ANSWER QUESTIONS) (30 Marks)

Attempt all questions from this section. All questions carry equal marks.

Write an essay on any ONE of the following topics.

(®
(ii)
(iii)

Tragic incidents of terrorism in Pakistan.
Mega problems of Karachi.
Necessity of tolerance.

Change the narration

)
(i)
(iii)
(iv)
0

He said, ‘Be quiet and listen to my words’.

I said to him, ‘I am writing a novel’.

Ali said to me, ‘I will give you a storybook’.
The commander said, ‘Move forward.’

She said, ‘The earth moves round the sun’.

Read the following passage and answer the questions given below:
The West throughout the last five centuries has displayed extraordinary energy — energy which has taken

many forms, some good, some bad. It has explored the world from Pole to Pole. It has learnt the secrets i

of atoms and stars.

It has discovered how to produce such an abundance of necessaries and comforts as previous ages would
have thought unimaginable. But all this, which might have ministered to human happiness, has been
vitiated by one fatal fault; the love of power over other human beings. I8

(i)

(ii)
(iii)
(iv)

What has been explored by the West? 2 Marks
What was unimaginable in the previous ages? 2 Marks
Give meaning of the underlined words. 3 Marks
Identify the parts of speech of the following words: 3 Marks

five, how, necessaries.

-------------------------




BOARD OF INTERMEDIATE EDUCATION, KARACHI
g INTERMEDIATE EXAMINATION, 2017 (ANNUAL)
MODEL QUESTION PAPER

Time: 15 minutes ISLAMIC EDUCATION (COMPULSORY)

SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) — (M.C.Qs.)

NOTE: i) This section consists of 10 part questions and all are to be answered.

: Each question carries 01 mark.

i) Do not copy the part questions in your answerbook. Write only the answer in full against the pro
number of the question and its part. o

e i St e R ST

1. Choose the correct answer for each from the given options:

i) This is obtained after Jihad:
‘ il Booty (Maal-e-Ghanimat) ¥ Money of War
i ; * Trade Money " Free Money
i) The Holy Quran was revealed: : .
| ? * 1400 years ago * 1600 years ago * 1800 years ago * 2000 years ago
‘ : iii) Give your wives with Happiness: - ;
! | ' " Meher - " Jewellery . Home " Clothes
! | iv) One who cannot keep his promise, he does not have this:
i SEE Deen s Religion * Faith " Worship
, V) Make Muslims fight among themselves in the veil of deen: :
; B8 * Infidels * Hypocrites as Jewish L) Christians
‘ h) Prophet Hazrat Muhammad (S.A.W.) said your servants are your: ' o
k1 3 . Friends A Brothers * Fellows i Companions
vii) The number of names of the Holy Quran mentioned in Quranic verses is:
: " 55 y 60 it 65 i 70
! viii) The practical way of defining the teachings of the Holy Prophet (S.A.W.) is called; Ll
. Hadith-e-Faeli * Hadith-e-Qawli * Hadith-e-Tagqreer * Hadith-e-Tawe
ix) The Heads of disbursement of Zakat are mentioned in this surah of the Holy Quran: /
? : " Tauba . Bagarah o Nisa G, Ikhlas
{ K The number of books of Hadiths included in Sahah Sitta is:
1 ' * 4 * 6 * 8 g 10
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SECTION "B" (Short - Answer Questions) 28
Y, 713711001 17

Note: All questions are compulsory.
y RS S WS e e T BT 52
Translate any Five of the following Quranic verses and Hadiths in Urdu, Sindhi or Eng|

i/,

a.us azlisazs A L.n,LQL-
?,L'-;dl .,hwl-mbae

‘ CJ‘UJ&.#‘O;J&"'&‘""“".’""
No Ve u«uu oaJ)s (ST

1 :‘,gdgi.«-.-.-.ttﬁﬁ.:uwr&?.é;ﬁ:bmﬁ.awrﬁ:.adi
Answer Any Five questions from the following. All questions carry equal marks.

R A T

& e et UL S ST
(ii) Write the three meanings of the word Wahi as used in the Holy Quran.

?4_)’/[!:_ Clpl.i ol Jay

0] What is meant by Amal-e-Saleh.

(i)  What is meant by d,ls o)l JaaY ?
(Aids)




Tq_:!/k(a- bl (iv)

s meant by Brotherhood (Mawakhat)? |
E LS L @
‘the names of books of Sahah-e-Sitta OR Usool-e-Arba. i
KL et (Vi) |
: the translation of any one Quranic verse regarding Fulfilment of Promise. |

| e P L dd  (vii)
did the Holy Prophet (S.A.W.) pray for the tribe of Dous?

: Sl e Abdia? (Vi) |
 is meant by Sha'ab-e-Abi;Talib? :

(el otz oo i
iled - Answer Questions) (15 Marks)

,qrd:wwéu,'wlﬁ_é;fagméammu’( ol kg
er any Two questions from this section. All questions carry equal marks.

_5&0:‘;@?)‘;‘58}%1 L
(qualities of the Prophethood of Hazrat Muhammad (S.A.W.).

il siEw e
principles of the distribution of Zakat.

,.F:f;:-?u,;{dﬂnfj‘ﬁ&udlﬁjuf} Bt
>-e-Halal) Lawful Earnings in the light of Quran and Sunnah.

e
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INTERME 17
Time: 15 minutes Model Question Paper PAKISTAN STUDIES (COMPULSORY)
C EAT
: ! TIPL OICE INS) —
: Em i) This section consists of 10 part questions and all are to be answered.
3 Each question carries 1 mark,
A ii) Do not copy the part questions in your answerscript. Write only the answer in full W

number of the question and its part.

ety

t
E B ] Choose the correct answer for each from the given options:
| i) The demand of Pakistan was based on: ‘
! i Hindu Muslim conflict e Nationalism
| A Two Nation theory . Development of Muslims
! ii) He was the first leader from the UP who supported the 1940 A.D. Lahore resolution:
] ’ Maulana Zafar Ali Khan o Chaudhary Rehmat Ali
_ ¥ Chaudhary Khalique-uz-Zaman * Raja Sahab Mehmoodabad
iii) Pakistan and India signed the Indus Basin Treaty in the year A.D.:
i i3 1959 i 1960 * 1961 . 1962
iv) The plan proposed by Lord Mountbatten is called:
* Cabinet Mission Plan * 3™ June Plan
* Cripps Mission Plan " Simon Commision
v) The first constituent assembly of Pakistan was dissolved by:
y Quaid-e-Azam o Liaquat Ali Khan
. "' Ghulam Muhammad b Ayub Khan
i vi) - The highest mountain peak of Pakistan is:
' e Nanga Parbat * Godwin Austin (K-2) ¥ Tirichmir "
| vii) The civilization of Sindh dates back to: _ T S
! . 2500 years * 3000 years * 4000 years . 5000 years
| viii) The book of Shah Abdul Latif’s poetry is called: i S
f " Heer Ranjha * Shah Jo Risalo  * Sassi Punnoon  * Umar Marvi
i ix) Pakistan’s first five years plan started in A.D.: 5
"' 1947 e 1955 * 1960 » 1965
: X) Pakistan became the member of the UNO in the year A.D.:
» 1947 i 1948 " 1949 ” 1950

LR S 0 S o S e SR
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bﬂote: Attempt Six part questions. All questions carry equal marks.

e — —— . —_ Ac——

— |- S

-é@ﬂ:d’g}ij;’) (i
(i)  Explain two Nation theory, ;
e QL GBS )

(ii) Write any three objectives of All India Muslim League.

_E YU h 194702301 (i)
(iii) Describe 3rd June 1947 Plan in four sentences.
- e bl 19730 L T
(iv)  Describe four main Islamic provisions of Pakistan's 1973 constitution.

ZoheaSUASLo W)

(v}  Describe the importance of the geographical location of Pakistan. :
Y /{JG)&(‘*' lué..'ﬁi&f'r’l (vi)
(vi)  Wirite two important features of Pakistani Culture.

Se Gt SAT BT AL DN (i)
(viil How is Urdu language the symbol of national identity? '

-éubaﬁ'd/f-“},ruuuw‘;w% (viii)
(viii) ~ Describe the importance of Agriculture and Education in the economy of Pakistan.
-Q{Jﬁ:hﬁu:;bbgc.dfﬁ.‘?fcﬁ (ix)

(ix)  Write names of any four organs of the United Nations.

o ,
(GRS (el zf™) T

~UtSsbeet B‘L@UV(V’.@(};LBL&UV»J e Lo

Attempt any two part questions from this section. All questions carry equal marks.

-kl et

Elucidate the initial problems of Pakistan.
~ZE e LIL 1947 < +.1940
Describe the main political events from 1940 A.D. to 1947 A.D. ;
_gas uhbipl Labdued &

Discuss the basic principles of the foreign policy of Pakistan.
e XXX e e e e e e e
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Time: 20 minutes ~ MODEL Q RY PAPEI Max.
(Science Pre-Engineering & Pre-Medlcal Graups)
SECTION ‘A’ ‘ i
[ (MULTIPLE CHOICE QUESTIONS) — (M.C.Os.)
E: i) This section consists of 17 part questions and all are to be answered.
Each question carries one mark.
if) Do not copy down the part questions in your answerbook. Write only the answer in full ag
proper number of the question and its part.
1. Choose the correct answer for each from the given options:
(1) While considering the rule of significant figures, the simplified result of 4.367 + 8.54 + 24,0043 is:
_ * 36.9 e 36.91 # 36,911 i 369113
(i) The relative atomic mass of Chlorine (Cl) is 35.5 amu, the mass in gram of 0.5 moles of Chlorine gas is:
‘ » 17.75 gram L 35.5gram =y 71 gram » 142 gram
(i) The atmospheric pressures recorded in different cities at the same time are given below:
Nathiagali Hunza Murree Gilgit
101290 Pa 101000 Pa 101225 Pa 101200 Pa
water boils first. In this city.
* Nathiagali * Hunza y | Murree s Gilgit
(iv;) In the diagram given below, name the reverse process of “B”

™

vi)

viii)

x)
Xi)
xif)

xiﬁi)

xi&r) This ion is more strongly hydrated with water:

i

BOARD OF INTERMEDIATE EDUCATION, KARACHI

INTERMEDIATE EXAMIN 0 AN UAL 7

ice
A 2

vapours +——p—— water

* Sublimation 3 Condensation * Evaporation e Fusion

If the ionic radii of both K™ and F~ are about 1.34A, the expected values of the atomic radii of K and F res)
are:

o 1.34A and 1.34A " 2.31A and 0.64A
o 0.64 A and2.31A s 231 Aand 1.34A
Quantum number values for 2p orbitals are: :
. n=1, /=0 - n=2, [=0 B n=2 /=2 " n=2, I=1
The %n value for positive rays is maximum for:
» hydrogen p helium ¥ oxygen » nitrogen

A molecule of AB; type undergoes sp3 hybridization with two non-bonding electron pairs, its
geometry should be:

Linear * Bent " Pyramidal x Regular Tetrahedron
When two ice cubes are pressed over each other, they stick. This forces is responsible to stick them:
s Dipole-dipole interaction 3 van der waal force
3 Hydrogen bond ¥ London force
This substance shows anisotropic behaviour in electrical conductivity:
. Solid NaCl " Diamond N Graphite . Ice
This is an example of endothermic reaction:
" Making ice cube x Melting ice cube
i~ Combustion of gasoline * Neutralization of acid and base
The strongest oxidizing agent in the Electro Chemical Series (ECS) is:
i B “H il *Zn
This pair does not represent buffer solutions:
* CH,COOH + CH,;COONa " NH,OH + NH,CI
" Na,CO; + NaHCO; ® CH,COOH + HCI

* BF"_ * 0—2 * C'a."'i A£+3'

Continued on the next page......
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energy profile diagram for an exothermic reaction is shown below:

E@)

Reaction Pathway

The energy of activation of this reaction is:
n 151 "‘ 25l " 40)

total number of ions in one mole of FeCl, is:
* 6.02x10% = 12.04x102 = 18.06x10%

) This is not isoelectronic with Na*":
5 Ne ¥ F! . Mg™




nenergyS )v‘%;‘ “: - It S5t S ALY exothermic L (xv

40
15
Em Product
0
Reaction Pathway
40 J ¥ 25 J ¥t 15J %
g MISSUF TR JrfiL FeCly (xvi
18.06x10% 12.04x10% * 6.02x10* ¥

e WAL Na® (i
Fr Mg™ % K%




INTERMED INATION, (ANNUAL) 2017 i
Time: 2 hours 40 minutes MODEL QUESTION PAPER - CHEMISTRY PAPER -1 Max. M%J

Note:

(i)

(i)

(iii)

(iv)

(v)

(vi)

{wvii)
(viii)

(ix)

(x)

(xi)

BOARD OF INTERMEDIATE EDUCATION, KARACHI : 22_"'

(Science Pre-Engineering & Pre-Medical Groups)
(Atomic Masses): (H =1amu.,C =12 amu.,0 =16 amu., Na=23 amu., Ag =108amu.,

Al =27 amu., S =32 amu.,Cl =355 amu,Ca=40 amu.,N =14amu., Mg = amu.)
Attempt any ten part questions. All questrons carry equal marks

SECTION ‘B’ .
(SHORT-ANSWER QUESTIONS) Marks: 40
Define the foliowing: v
* Limiting reactants * Random error ':
* Enthalpy * Specific rate constant

Potassium chlorate is often used to generate Oxygen gas in high school laboratory. If 183.7g of Kclosmt
completely burnt catalytically, what volume of Oxygen gas will be obtained at 39°C and 1200 torr
pressure?

2KCIO, —4%%_5 2 KCI +30,

State the relevant laws which are applicable on the following observation of gas.
* A balloon shrinks when kept in a cold place.
* Pressure of moist gas is higher than that of dry gas.

Caffeine is a most widely used legal psychoactive drug. In an industrial analytical centre, a sample of
30g caffeine was analyzed and found to contain 14.844g Carbon, 1.557g Hydrogen, 8.665g Nitrogen
and the rest is Oxygen. What is its empirical formula?

The reaction between marble chips and Hydrochloric acid is given as:
CaCOjz() + 2HCly, N . - CaClys) + COzq + H20n

What will be the effect on the rate of reaction if.

* Marble chips are replaced by ground marble?
* Temperature is raised to 35°C? Draw energy diagram

A chemist (using diffusion apparatus) was working on a gas of unknown identitv, using dlﬁusbll:
apparatus. He noted that the rate of diffusion of the unknown gas was 70.3cm 3/s whereas CO, is
60cm®/s under similar conditions. What is the molecular mass and identity of unknown gas?

State the first law of Thermodynamics and derive pressure-volume work equation.

Calculate AH for

CaOy + SO — > CaSOy (AH=7?)
From the following given data
Ha) + %02(3) st BN (AH = - 285.8 Kj)
5030 + H20p ———— Hy504 (AH = —132.5 Kj)
H2SO04g + Cag—————> CaSOy + Ha) (AH = — 602.5 Kj)
Cagg + %02(3) i By mumiindl * ] (AH = —634.9 Kj)

State Le Chatelier’s principle. Predict the direction of the equilibrium if the following constraints are ,'"
applied. i

Ny + Oypy + Heat —==2NO,,,

* Temperature is increased * Pressure is decreased
* More O, is added * Volume of vessel is increased

During an acid base titration, Hydrochloric acid is filled in the burette up to zero mark and 20ml aﬁ .
0.085M Na;COj; solution is pipetted out into conical flask using indicator. {
* Name the indicator suitable for this titration and also mention the colour change.

* If burette reading at the end point was noted to be 13.7 ml, determine the molarity of HCI.

Will a precipitate of Mg(OH), be formed if the pH of 0.001M aqueous Mg(NQO,), solution is adjustd 25 ‘l'
to 10? (Ksp of Mg(OH), = 4 x 107*%) '

Continued on the next page............
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m + 20y Ca0y,) (AH = — 634.9 K)
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| SECTIONB & C
i
(xil)% Derive Rydberg equation for Hydrogen atom if the energy of revolving electron in nth orbit is:
i g
| E(mraf) =;2£—z_n,:—e
- nh
(xiii]_ The experimented Lab report for the kinetic study of a reaction, A+ B —— C, at 660°C is given
. Initial conc. {(mole/dm®) Initial rate of formation of C
Exp. No. 3
A -] {mole/dm".s)
1 0.010 0.010 2.5x10™
2 0.020 0.010 1.0x 107
3 0.010 0.020 5 x10™
Using this data, determine the
* Order of reaction
* Rate constant
(xiv) Predict and draw the shape of BF; and H,0 molecules on the basis of VSEPRT.
(xv)  Give scientific reasons for the following:
* Viscosity of a liquid decreases at high temperature
* |.P. of Nitrogen is greater than that of Oxygen
* Sigma bond is stronger than pi bond
* Unlike gases, liquids and solids can not be compressed easily
SECTION C’
(DETAILED-ANSWER QUESTIONS) marks: 28
Note: Answer any two questions. All questions carry equal marks.
Q.3 (a) What is atomic orbital hybridization? Draw and explain hybridization in Ethene (C;H,4) and

Q.4 (a)

' (b)

Q.5 (a)

- (b)

- (c) Differentiate between any two of the following:

Ammonia (NH3) molectules.

(b) What do you understand by the term “Dative bond”? Explain the formation of Dative bond

NH ion and CH3NO; molecule.

() Kc for the reaction H,, + I,,, == 2HI, at 700°C is 55. Caiculate the equilibrium conc. of
reactant and product when the initial conc. of H; and |; are 2.55 mole/dm? each. |

Describe Gold foil experiment with its conclusions for the discovery of Nucleus in an atom. A
mention its two drawbacks.

Balance any one of the following equations by ion electron method using desired medium.
HI + HNO3"""_'_"NO + |3 + H,O
Zn + NaNO; + NaOH ————— Na;Zn0; + NH3 + H;0

(c) state Pauli’s rule and Hund'’s rule and write the electronic configuration of Br~ (Z = 35),
K" (2=19) and Cr(Z = 24).
A voltaic cell, (emf = 0.76v) is made up of standard hydrogen electron (SHE) and Zinc electrode

represented by Zn|Zn, (IM) || 2H(,,, | H,;.

* Draw the complete diagram of this cell, showing the direction of electron flow in the circuit
direction of +ve and —ve ions in the salt bridge.

* Write the half reactions and the overall cell reaction

* Determine the reduction potential of Zinc mentioning its sign

What is capillary action? Explain the following observations:
* Mercury forms convex meniscus while water forms concave meniscus.
* Ink spreads on blotting paper.

* Isomorphous and polymorphous solid
* Hydration and Hydrolysis
* Polar bond and Non-polar bond
e ORI K = e
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Eﬁ Initial conc. (mole/dm®) Initial rate of formation of C

A B (mole/dm?.s)
0.010 0.010 25x10™
0.020 0.010 1.0x10™
0.010 0.020 5 x10™
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BOARD OF INTERMEDIATE EDUCATION, KARACHI 9
INT T INATI

Time: 20 minutes MODEL TION PAPER - CHEMISTRY PAPER - | Max. Marks:
(Science Pre-Engineering & Pre-Medical Groups)

| T fA?

. TIPLE 1 —(M.C.
 NOTE: i) This section consists of 17 part questions and all are to be answered.
! Each question carries one mark.

ii) Do not copy the part questions in your answerbook. Write only the answer in full against the pr
number of the question and its part.

' 1. Choose the correct answer for each from the given options:

i) In Lothar Meyer atomic volume curve, each peak represents:
. Alkali metal o Noble gas . Halogen . Coinage metal
ii) The atomic number of an element is 23. Identify its group and period in the periodic table:
» 3" period and ITIB group * 4™ period and IB group
. 3" period and IIB group * 4™ period and IITB group
i) Hydrogen resembles, to some extent in properties, this set of groups in the periodic table:
' . IA, IVA and VII A elements . IIA, IVA and VA elements
* IIA, IVA and VI A elements . IA, IVA and VI A elements
iv) Hydrides having non-stoichiometric composition are called:
¥ Complex hydrides » Metallic hydrides
” Polymeric hydrides 4 Covalent hydrides
v) Permanent hardness of water can be removed by treating it with:
= Washing soda * Baking soda - Caustic soda 3 Lime water

vi) This alloy of Aluminium is used in manufacturing aeroplane bodies:

- Magnalium . Duralumin . Alnico » Aluminium bronze
vii) Nitric acid is frequently transported in containers made of:

I Aluminium » Iron . Copper ¥ Silver
viii)  Galvanized Iron is protected by a thin layer of:

. Cr "' Zn L2 Sn - Pb
ix) On catalytic cracking, Decane gives three fragments. Identify the third fragment: '

ColHypy—CH, +C,H +?

. CH, - oy * CH, " CH
X) Acrylonitrile is formed when Ethyne reacts with:

4 HOCI " HCN w1 n H,0
xi) Only this one of the compound given below obeys Markownikoff rule on reaction with HCI:

. CH,-CH =CH, . CH,=CH,

¥ (CH3 )2 CEC (CHS )2 * CLC =CCl,

xii) Alkyl halides are commonly prepared from alcohols:
Alcohol + Reagent ——> Alkyl halide

Only this one of the following cannot be used as reagent in this reaction:

* PCL * SOCl, » HCI1/ ZnCl, . K;Cr,0; / H,S0,
xiii) In the manufacturing of Methanol, Hydrogen is reacted with:

o Carbon dioxide * Methane ] Carbon monoxide » Chloromethane
Xiv) Among the following, this has the largest radius:

i P* . 6 » Ar . ;g
XV) Bloor’s reagent contains Ethyl alcohol and:

" Diethyl ether o Methyl alcohol " Acetic acid " Ethylene glycol
xvi)  This vitamin is water-soluble: _

* Retinol * Ascorbic acid - Calciferol . Tocopherol

xvii)  While cooking food, these components are lost to the maximum extent:
* Fats * Carbohydrates ™ Proteins . Vitamins
e e X KK KKK KKK e
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BOARD OF INTERMEDIATE EDUCATION, KARACHI!
INTERMEDIATE EXAMINATION, (ANNUAL) 2017

MODEL QUESTION PAPER - CHEMISTRY PAPER - Il
(Science Pre-Engineering & Pre-Medical Groups)

SECTION ‘B’ il

(SHORT-ANSWER QUESTIONS) Marks: 40

Attempt any ten part questions. Five from Organic and five from inorganic chemistry. All Il

questions carry equal marks.

INORGANIC CHEMISTRY

Refer to the list of given compounds E

Compound A B c D

Specific Name Gypsum Borax Red Lead Potash Alum

Write:

(i)

(iii)

(iv)

(v}

(vi)

(vii)

(wiii)

(ix)

)

(xi)

(xii)

a) The formulae of B and D.

b) Only one common use of D.

¢} The equation for the preparation of C.

d) The equation for the reaction when ‘A’ is heated to 100°C

State the periodic law of Moseley and give three prominent discrepancies in
system of classification of elements.
How is Atomic Hydrogen prepared? State its use in welding torch.
OR
Explain the following behaviour of Diamond and Graphite.
. Electric conduction * Hardness

Give complete and balanced equations for the following reactions:

% Zinc is put in 90% concentrated Sulphuric acid

Excess of Ammonia is passed through a solution of blue vitriol

CO; is passed through an aqueous solution of Soda Ash

‘Nitric acid is treated with Hydrogen sulphide

Discuss any two of the following properties of transition elements.

i Magnetic Property o Catalytic Property

‘d Complex Formation 3 Formation of coloured compounds
Give I.U.P.A.C. names of the following complexes:

i [Co(CD)T” I (> TR
[PH(NO,),(NH,),]
Describe the chemistry involved in Castner Kellner cell for the manufacture of Caustic Soda.

(Diagram is not required) -
Give scientific reasons of the following: !
d Alkali metals are powerful reducing agents
Alkaline earth metals are harder than alkali metals.
H*and H ions behave differently in water.

Li* ion has much higher value of heat of hydration than Cs".
ORGANIC CHEMISTRY
Define the following with examples.

i Homologous Series %
o Essential amino acids 2

* * ®

Na,[Fe(CN),NO] *

*
*
*

Catenation
Peptide linkage
The structures of two significant organic molecules (Y and Z) are shown below:

G T

C=C H—C=C—H
I_/ A
Bt (2)

* Draw and explain the hybrid orbitals structure of Y

* Write the equation for the preparation of Y and Z if 1,2-Dichloroethane is taken as raw

What are Carbonyl compounds? Taking Formaldehyde as starting material, write the equatic
for the formation of following compounds.

* Oxime = Meta-formaldehyde * Methanol
Write the classification of Organic compounds with examples.

Continued on the next page............
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(xiii) What is the action of meta-directing and de-activating group in the addition of s
(xiv] Why is dry Ether used in the preparation of Grignard reagent? Write equations for

(xv)  Write the equations for the following organo-chemical processes and name the final pro

(xvi) Name the following compounds by 1.U.P.A.C method.

Note: Attempt only two questions, one from Inorganic Chemistry and the other from Organic Chemistry.
All questions carry equal marks.

Q3 (a)

(b)

()

4, (a)

(b)

(c)

5. (a)

(b)
(c)

6. {a)

(b)

(c)

Page-:2:- M - -1

substituent in Benzene. Write chemical equations for the following conversions.
¥ Benzene to m- Nitrotoulene - Chlorobenzene to Picric acid

preparation of following compounds from Methyl magnesium bromide:
4 Vinegar ;e 37 Butyl alcohol e Ethane

*

Ethyne is hydrolysed with hot water in the presence of HgSO,4 and H,S0, at 75°C. 3
Reaction of Isopropyl chloride with Sodium metal in the presence of anhydrous Ether.
Action of Ethene with Sulphur monochloride

Vapours of Acetic acid are passed over MnO; at 500°C

*

*

*

1 0
a) CH, =CH -CH,-C—-CH, b) I
BrnC-C-0H
o CH, C{fg
Il \
c) (CH,),C -C-0OCH, d) HC=C~-CH-CH, - (,7 -CH=C
CzHS
e) (CH,),CH -0 -CH,
SECTION ‘C’ Marks: 28

DETAILED-ANSWE ESTION

INORGANIC CHEMISTRY
The flow chart represents stages in the manufacture of H,S0,4 by contact process.
Oxygen
Sulphur SOy vR > SOsp S §| Oleum | T H,504(98%)

* Describe the chemical process in stage R along with the conditions for maximum conversion.
* Explain why the removal of impurities from SO, is necessary before stage R.

* Describe the process in stage Sand T
Complete and balance the following equations:

+ MgO+C+Cl,—> *  Ca(OH), +Cl,—> * Na,CO, +8i0, —2—>
* Al+KOH + H,0——> * PbCrO, + NaOH ——>

Describe the classification of elements in the long form of periodic table on the basis of electronic configuration.

B -

Aluminium is obtained on industrial scale from Alumina in typical electrolytic cell. Describe the electrochemical
processes taking place in the cell. Explain the purpose of adding Cryolite and flourspar.

Define the term Binary compounds of Hydrogen. Name their various classes. Also give the preparation and
properties of salt-like hydrides.
Explain any one of the following:
2 Corrosion and its prevention ’ Silvering of mirrors

N EMI
Define Fermentation. How is Ethanol obtained by the fermentation of starch? Give the composition and
significance of Methylated spirit.
Outline the reaction mechanism of the following:
* Isopropylation in Benzene . Unimolecular elimination reaction in Alkyl halide ;
‘What is meant by reducing and non-reducing sugars? Draw the structure of Sucrose showing Glycosidic linkage. 'ﬂ ;
Explain the molecular orbital treatment for the structure of Benzene.
Draw the structural formulae of the following organic molecules:

* Neo-pentyl alcohol * Terephthalic acid * 2 — Naphthol
i p-Xylene » Triphenylamine
What are Detergents? Why are they better than soap and how do they work?

OR

What is meant by Thermosetting plastic and Thermoplastic? Draw the structures of PVC and Bakelite.
KK HHHH ==
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BOARD OF INTERMEDIATE EDUCATION, KARACHI 32
INTERMEDIATE EXAMINATION, 2017 (ANNUAL)

Time: 20 minutes (Model Question Paper) PHYSICS PAPER - | Max. Marks: 17

‘ A’
TIPLE CHOI UESTIONS) — .0s.
i) This section consists of 17 part questions and all are to be answered.

Each question carries one mark.

ii) Do not copy the part questions in your answerscripts. Write only the answer in full against the
proper number of the question and its part.

iii) The use of scientific calculator is allowed. All notations are used in their usual meanings.

1. Select the most appropriate answer for each from the given options:

i)

if)

iif)

iv)

v)

vi)

vii)

viii)

x)

xii)

xiif)

If a vector A lies in xy-plane and it makes an angle ‘ € * with y-axis, its y-component is:

* Ay=A cosf * Ay=Asec® * Ay=Asin@® * Ay=Atan@
Two forces which form a couple:

" can be replaced by a single equivalent force X cannot be replaced by a single equivalent force

il are perpendicular to each other " are paraliel to each other

It is better to use a long spanner rather than a short one to tightenanut or a bolt because:

4 Less force is needed by the user Force of friction decreases

- Less turning effect is required on the spanner  * Force of friction increases

The belt of an astronaut attached to a Point inside the spacecraft orbiting around the earth accidentally gets L
detached, the astronaut will: :

- Fall on the earth . Go into outer space

a Remain in the spacecraft » Orbit around the earth’s moon

A boy performs an experiment to measure the acceleration of free fall of a body. These dimensions are needed:
e The height and the time of fall . The height and the quantities of the body

* The mass of the body and the height " The mass of the body and the time of fall

Two spheres, of similar mass m, are travelling with speed v, towards each other. The spheres have a head-on
elastic collision:

g The spheres stick together on impact " The total K.E. after impact is mv* .

* The total K.E. before impact is zero » The total momentum before impact is 2mv

A girl throws a ball vertically upward. Neglecting air resistance, which one of the following statements is correct?
vy The kinetic energy of the ball is the greatest at the maximum height.

. The total energy of the ball is constant throughout the motion.

i The potential energy of the ball remains constant throughout the motion.
* The momentum of the ball remains constant throughout the motion.
The transverse nature of light wave is proved by:

» Diffraction i Interfere

8 Because intensity obeys inverse square law * Polarization
A cyclist, cycling around a circular racing track, skids because:

¥ The limiting friction is less than the required centripetal force

» The limiting friction is grater than the required centripetal force

a The limiting friction is equal to the centripetal force

* The friction between the tyres of the cycle and road vanishes

Sound wave is set up in a long tube, closed at one end. The length of the tube is so adjusted that the sound from
the tube is loudest. The nature of the sound wave in the tube is:

- Longitudinal and progressive ¥ Longitudinal and stationary

b Transverse and progressive * Transverse and stationary

Diffraction of sound is commonly observed in daily life than diffraction of light waves. This is so because:

. Sound waves are longitudinal and light waves are transverse

i Sound waves are transverse and light waves are longitudinal

" Wavelength of sound waves is smaller than that of light waves

. Wavelength of sound waves is greater than that of light waves

A simple pendulum sets into vibrations freely, eventually comes to rest after sometime. Because of friction of air
on bob:

e The amplitude of oscillations gradually increases.

The motion of oscillations gradually decreases.

The amplitude of oscillations gradually decreases.

The motion of oscillations gradually increases.

* * *»

We keep our legs far apart when we have to stand on the floor of a moving train in order to:
produce the state of neutral equilibrium

produce the state of stable equilibrium

stand easily and comfortably

produce inertia

LB O B
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To increase the separation between fringes in a double slits experiment when violet lig
done: 3
- the distance between the screen and the slits be decreased.

. the distance between the two slits be increased.

¥ the width of each slit be increased.

. a monochromatic source of red light be used.

The objective lens of a microscope is of:

¥ Large focal length and converging properties

. 5

Short focal length and diverging properties
o Very short focal length and converging properties

2 Equal to eye pice focal length and converging properties i
It is possible to recognize a person by hearing his voice even if he is hiding behind a solid wall. T
his voice:

g has a definite pitch .

has a definite quality
. has a definite loudness » can pass through the wall
A body of constant mass has constant acceleration the correct statement for force is:
» It increases uniformly with respect to time by It is constant but n
L 1t is proportional to the displacement from a fixed point * It is proportional to t
e e e KKK K KR K KKK e e
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Time: 2 hours 40 minutes  (Model Question Paper) PHYSICS PAPER - | Max. Marks: 68
SECTION ‘B’

(SHORT-ANSWER QUESTIONS) (40 Marks)

NOTE: Attempt any Ten part questions from this section, All questions carry equal marks. The use of scientific calculator is
allowed. All notations are used in their usual meanings. Draw diagram where necessary.

F YR The ratio of the acceleration due to gravity inside a deep mine and that on the surface of the earth is 0.99. Find the

depth of the mine, assuming that the density of the earth is uniform throughout and the radius of the earth is
6300km.

ii) A 100 cm long string vibrates in 4 loops at 50 Hz. Linear density of the string is 0.0004 gm / cm. Calculate the
tension in the string.

i) What is meant by Shock waves? What will happen if:
a) The speed of source of sound equals the speed of sound?
b) The speed of source is grater than the speed of sound?

iv) Find the magnitude of the area of a triangle whose two sides are represented by 4 = 61 — 2 ] +3k& B=i +2_?-'—

v) When an aircraft is moving in a horizontal plane at a constant speed of 650 m/s and its turning circle has a radius of
80km.What is the ratio of the centripetal force to the weight of the aircraft?

vi) A boy drops a metal ball from rest on sand. It hits the sand bed in one second and makes an impression of maximum
depth 8.0 mm in the sand. What is the average deceleration of the ball as it hits the sand? Assume air resistance is =~
negligible, :

vii) A diffraction grating is ruled with 600 lines per millimetre. When monochromatic light falls normally on the grating,
the second order diffraction is obtained at an angle of 15 degree with the normal to the grating. What is the
frequency of the light?

viii) A rickshaw driver moving with a speed of 36 km/h, notices a child standing in the middle of the road and brings his
rickshaw to rest in 4 sec, just in time to save the child. What is the average retarding force on the rickshaw?
The mass of the rikshaw is 400 Kg and the mass of the driver is 65 Kg.

ix) An automatic gun fires ‘n’ bullets with a speed of 1800m/sec in 3 seconds. The mass of each bullet is 25 gram. If
450N force is required to hold the gun in position, find the number of bullets fired in each second.

x) A particle of mass ‘m’ is located at the vector position 7 and has a linear momentum p . The vectors 7 and p are
nonzero. If the particle moves only in y-z plane. Prove that L, = L, =0and L, #0

xi) What is meant by plane polarization of light? How does this phenomenon explain that light waves are transverse in
nature?

xii) What is the centre of mass? In what way does the centre of gravity coincide with the centre of mass? I
xiii) Why do the edges of a thin film appear dark when illuminated by monochromatic light? f ;
Xiv) Two forces F, and F, are acting on a body, the angle between them is @ . Assuming that F, is acting along X-axis,
prove that the magnitude of resultant force F is equal to
F =\F? + F} +2FF, cosf
Xv) Write the differences between transverse and longitudinal waves.
SECTION ‘C’
(DETAILED-ANSWER QUESTIONS) Max Marks: 28
NOTE: Attempt any Two questions from this section. All questions carry equal marks. Draw diagrams, where necessary.

35 a) A bob of mass m is attached to one end of an elastic, inextensible string which hangs vertically from a rigid support. W
it is displaced from its mean position, show that it executes S.H.M. Derive the expression for its frequency.

b) What is interference of light? Explain Thomas Young’s experiment for the determination of wavelength of
monochromatic light for bright fringes.

4. a) An object is placed within the focal length of a convex lens. Derive the formula for its magnifying power.

b) A bullet of mass m is fired from a gun at angle € w.r.t. x-axis with velocity v. Derive the formula for its total time
of flight and horizontal range. r

5 a) A body from a point in the gravitational field is moved slowly to infinity. What kind of energy will be stored hﬁg
System? Derive the relevant formula.

b) Two bodies of masses M & m are connected to the ends of a string passing over a frictionless pulley such that the
two bodies are moving vertically. Derive the expressions for
(i) the acceleration of the bodies
(ii) the tension in the string.
What will be acceleration of the bodies, if M=3m?
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_ INTERMEDIATE EXAMINATION, (ANNUAL) 2017 -
Time: 20 minutes MODEL TIO R Max. Marks: 17
PHYSICS PAPER - Ii .
SECTION ‘A’
TIPLE CHOICE NS) — (M.C.Os.
OTE: i) This section consists of 17 part questions and all are to be answered.

1. Select the most appropriate answer for each from the given options;

)

i)

jii)

iv)

v)

vi)

vii)

vii)

ix)

X)

xi)

xii)

xiii)

Xiv)

Xv)

xvi)

xvii)

BOARD OF INTERMEDIATE EDUCATiON, KARACHI 31

Each question carries one mark.
ii) Do not copy the part questions in your answerscript. Write only the answer in full against the p
number of the question and its part.
if) The use of scientific calculator is allowed. All notations are used in their usual meanings.

The PV- diagram which is parallel to P-axis, represents this change:
* isothermal * adiabatic * isobaric » isochoric

Accordmg to Einstein’ s Special Theory of Relativity, the mass of a particle, moving w1ﬂ:l the speed of light, beco

Zero double " infinite ten times
When an electron jumps from the third orbit to the first orbit in the Hydrogen atom, the line spectrum obtained
belongs to:
4 Brackett series . Paschen series * Balmer series  * Lyman series
Ammeter is an instrument whose resistance is: '

Zero " low L high % infinite
The emf induced by the motion of a conductor across a uniform magnetic field is called:
@ mutually induced emf " motional emf
i self-induced emf . emf of a battery
Electromagnetic waves having the shortest wavelength are: )
" infrared waves g ordinary light waves i X-rays » y—rays
A fuse is rated 8A, it means: |
» it will not work if current is less than 8§ A - it will work only if current is 8A
" it will melt off if cwrrent exceeds considerably from 8A  * it will not work if current is 8A

If an electron and a proton have the same de Broglie wavelength, then this/these will have greater speed:
. a proton » an electron o both proton and electron ~ * neither electron

Sodium nucleus consists of 11 protons and 12 neutrons. Its conventional symbol is:

. w0 o Na'! » W Na® * nNa"!
The temperature of one end ‘A’ of a metallic rod is 32 °F while that of the other end ‘B’ is 273K heat will flow:
"‘ from AtoB » fromBto A

> first from B to A and then from Ato B * neither from A to B nor from B to A

A parallel plate capacitor consists of two plates, one of copper and the other of aluminium. The capacitor is

connected to a battery;

- copper plate will store more charge - aluminium plate will store more charge oo
* both plates will store equal charge * no plate will store any charge ey
The diameter of a 2m copper wire is gradually increased from one end to the other. The resistivity:

" of the thick end is greater 2 of the thin end is greater

. of both the ends are equal " varies gradually with diameter

A conductor of length ‘L’ is placed perpendicularly in a uniform magnetic field of flux density B. The force on -3
the conductor is:

» BIL " BIL siné ¥ BIL cos@ . zero
These radiations are used for the treatment of a cancerous tumour deep inside the body:
¥ X * o * ﬁ * ?’
Breeder reactor is used fo convert:

92U235 into ”Um * ”Um into 9‘«Pum
* U™ into ;, Ba'** and ., Kr® . U™ tinte L BT
The function of concave pole pieces and soft Iron cylinder in a moving coil galvanometer is to:
* increase sensitivity * make the scale non-linear
e make the magnetic field radial and strong * produce damping

A Geiger Counter is able to provide an indirect measure of radioactivity because radioactive radiations have the i
propetty of:

* ionization * making material particles glow in the dark
e fogging the photographic film * attracting protons

e e e X KKK KKK KK o e e
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Time: 2 hours 40 minutes

MODEL QUESTION PAPER Max. Marks: 68
PHYSICS PAPER-Il (SCIENCE GROUP)

(SHORT-ANSWER QUESTIONS) Marks: 40
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INTERMEDIATE EXAMINATION, (ANNUAL) 2017

NOTE: Attempt any Ten part questions from this section. All questions carry equal marks.

2,

4,

)

ii)

iii)
iv)

v)

vi)

vii)
viii)

ix)

x)
XI)

xii)

xiii)

Xiv)

xv)

Find the final diameter and final volume of an aluminium sphere of radius 0.25m when it is heated from 0°C to 100°C
(@=2.4x10"/°C).

If 1.07x10° electrons are removed from each of the two similar spheres, find the mass of each sphere so that the
electrostatic repulsion is balanced by the gravitational force. (¢ =1.6x107°C)

9Nm

2
(K 9%10° ~2,G = 6673x10‘"£kr’-§2—)

g

Prove that the rate of heat production in each of the two resistors connected in parallel is inversely proportional to the
resistances.

Extract an expression for a couple acting on a current-carrying rectangular coil, held in a uniform magnetic field.

A current of 6A produces a field of 4x107*7 inside a toroid having 400 turns. Find the radius of the toroid.
u,=4rx107T .

Find the mass of a particle, accelerated through a potential difference of 4x10°V, enters in a uniform magnetic field of 0.4T,
making an angle of 45° with the magnetic field. The diameter of the circular path of the particle is 1.02m and the charge on
the particle is 1.6x107°C.

How can a galvanometer be converted into an ammeter and voltmeter? Mathematical explanation is not required.
How are p-type and n-type substances made?

An electron in the Hydrogen atom makes a transition from the 5th to the 3rd orbit. Find the wavelength , frequency and
wave number of the radiation emitted. (RH =1.09%10"m™ )

Give a labelled diagram and explain the working of G.M. counter.

Differentiate between excitation and ionization potential.

Determine the mass of a particle with de Broglic wavelength 6.63x10’m, moving with a velocity of 1500 cm/s

(h=6.63x10"J.s).

Establish the relation between the coefficients of linear and cubical expansion.

Prove that in parallel combination of three resistors, the sum of the individual conductance is equal to the equivalent
conductance,

A parallel plate capacitor has plates 20cm X 20cm separated by a distance of 4cm. The capacitance of the capacitor is
increased by 1.26 x 10°"'?F, if a dielectric slab, of dielectric constant 2 and of the same area, but of suitable thickness, is

slipped between the plates. Find the thickness of the slab (€,= 8.85x1072C? / Nm?) .

SECTION ‘C’
T ED- R QUESTIONS Marks: 28
NOTE: Attempt any two questions. Draw diagrams, where necessary.
a) Establish a relation for the pressure of an ideal gas in terms of its density and mean square speed.
b) State and apply a law to find the electric intensity at a point outside a uniformly charged sphere.
a) On what principle does a transformer work?
Give the working of a transformer with the help of a labelled diagram. Derive the relations between:
i EMF and number of turns.
ii. EMF and current.
b) Upon colliding with stationary electron, a high energy photon transfers some of its energy and gets scattered.
Explain this phenomenon and derive a relation for the shift in the wavelength of the photon.
OR
What is meant by the term frame of reference? Prove that all the laws of mechanics are the same for all the inertial
frames of references.
a) Explain the functions of the various parts of a moving coil galvanometer and prove that the amount of current
flowing is directly proportional to the angle of twist of the suspension.
b)

State the postulates of Bohr's atomic theory for Hydrogen atom. Derive an expression for the radius of the n m‘bit £

of Hydrogen atom. Hence, evaluate that the radii are in the ratio of 1:4:9:16:

...........

 —— + 5,00 ¢ 6 +.0. 0. S -
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i
1 { INTERMEDIATE EXAMI 1 ;
| Time: 20 minutes MATHEMATICS PAPER I Max. Marks:20
! (MODEL QUESTION PAPER)
(MULTIPLE CHOICE QUESTIONS ) &
. NOTE: i) This section consists of 20 part questions and all are to be answered. Each question
} ii) Do not copy the part questions in your answerbook. Write only the answer in full
number of the question and its part.
E iii) The use of calculator is allowed. All notations are used in their usual meanings.
F
_‘ [ 18 Choose the correct answer for each from the given options:
F i) If 4={1,2,3}and B={a,b,c}, then:
: 5 *A=B * A~B *ACH

| |iD) If A, B are mutually disjoint non-empty subsets of Uand 4w B=U then A and B are called: E
’ * Cells * Equal sets * Null sets * Universal

GEE TS 5

b | * Purely real * Purely imaginary * Complex * Zero
! il
. iv) Ifa<0&b<0,thenvar vb=:
! *ab * ++ab * —+ab * ab
HE") A quartic equation can not have more than: LAk
| * One root * Two roots * Three roots . * Four roots
1 vi) If one complex cube root of unity is @, then the other is : _
| 4 * o | At * 0)3 * _l_
: i @
t ! i /12 : L 3
i 1| vi) If L : 6] is singular matrix, then A = :
} } * 64 *q * 4, 40,2 * 4,40, 40
1 |
| ‘ viii) If A =diag(2,3,6) then |4] =:
_| g %3 O *1] * 36
; ix) Geometric sequence can not have this as its first term:
s " 0 o 1 * @ * i
x) An ordered set of numbers, formed according to a definite rule, is called: i
' * Set * Sequence * Series _ * Ordered p:
| B 4
xi) A sequence is a function f: -
i *N—N *R— N *N—RorN—C . TGN
i .
; xii)  The probability of sample space is:
I *0 L * ]ess than 1 * greater th:
‘_ xiii) 1P+23+3%+ ... +10°=:
' * 300 ® 3005 * 3000 * 5230

1 xiv)  In the binomial expansion of (a+5)", the coefficients of the terms equidistant from the begin
the ending are always:

\ * Unequal * Equal * (:) * (g)

Continued on the ne;




then p(6) lies in the:
~ *2™ quadrant * 3" quadrant

* cos26 * —cos26

between the points (11) & (4, 5) is:

* 3 units * 4 units

through the vertices of a triangle is called:
* Circum-circle * Escribed circle

the equal sides of an isosceles triangle are always:
e * Obtuse angles * right angles

X is: - :
¥ w<x<w ! ¥ l<x<l1

LR R R e

* 4" quadrant
*

* 5 units

* Semi-circle

* Acute angles

*0cx<y

e S, ERP R = e
o SRR e e 2 §

s

A e




Time: 2 hours 40 minutes MATHEMATICS PAPER - | Max. Marks: 80

ii)

iif)

iv)

ii)

iii)

iv)

BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION, 2017 (ANNUAL

ODEL QUESTION PAPER

{SHORT-ANSWER QUESTIONS) Marks: 50

Attempt any TEN part questions from this Section, selecting at least THREE part ques
each question. You may choose the tenth part question from any one sub-section. All ¢
carry equal marks.

COMPLEX NUMBER, ALGEBRA & MATRICES

Provethat: (a) |z;.2,] = |z).1 23], V2, 2, €C.

(b) £ 2= 2% vzEC.

Solve: /2y +7+./y+3=1.
OR

Two railway stations are at a distance of 96 km from each other. One train covers this
40 minutes less than the other. The speed of the first train is 12 km/h faster than that of t
second. Determine the speeds of both the trains.
Find the condition that one root of px? — gx —r =0, p # 0 may be double of the other.

: : v .1 -8]_[-2 5
Find a matrix X so that: X [ 8 _7] = [ 8 _7] e

p AR L 1 a be
Using properties of determinants, showthat:|la b c¢|=|1 b ca|.

a® B 1 ¢ ab

GROUPS, SEQUENCE, SERIES & COUNTING PROBLEMS

Is ( R, *) a commutative group if * is defined in R by a * b = 3ab,Va,b E R?

A party of 6 members is to be chosen from a group of 5 ladies and 4 gents. In how many

can the party be formed so as to contain '

(a) exactly 3 ladies? (b) at least 3 ladies?
OR

The chances of winning of two horses are % and i respectively. What is the probability that :
least one will win when the horses are running in the same race?

Using mathematical induction, prove that: 1 +5 4+ 9 + .. cee v + (40 — 3) = n(2n — 1}.1
verify the proposition forn = 3. e
If p,q,r are in H.P., prove that ——,~*— —— are also in H.P.

q+’ T4p " ptq
If the sum of p terms of an A.P. is q and the sum of q terms is p, find the sum of (p-i-qr 'P
TRIGONOMETRY

A belt 12.25 metres long passes around a 3.5 cm diameter pulley while the belt makes ¢
complete revolutions in a minute. How many radians does the wheel tumn in 5 seconds?
I .“5_
Draw the graph of y = tan(—x), where —-E Ly E . i
OR
Find the period of -:- cos2x.

Show that in a triangle ABC : ri 4 & ik 1

___1
1 T T3-'T

Solve the equation: sinx — v3 cosx = 1.

Prove that: cos™1x +cos™y = cos™(xy ~ V1 —x2 \J1—-y2) . e
Continued on the next page .........




SECTION 'C’
D -ANSWER IONS Marks: 30

TWO questions including Question number 5 which is compulsory.

a dropped ball always rebounds one-half the height of its fall. If it is dropped
a height of 128 metres, how far has it travelled when it reached the top of the sixth

A SN S S

OR
it p?,q% r? arein A.P.iff g + r,7 + p,p + q are in H.P.

=

e of plastic strip, 3 metres long, is bent to form an isosceles triangle with 96° as its
st angle. Find the length of the sides. %)

“@

‘using calculator, prove any two of the following: 4)

I . cosB*~+3sin3® & Q) o Cotacoth +1
_ S = sin3°+v3cos3° » e 1 e e cotB—cota

cos(8+¢)
cosBsing

m«p - tan® =

that the roots of (x — a)(x = b) + (x = b)(x — ¢) + (x — ¢)(x — a) = 0 are real and
1not be equal unless a=b =c. (8)

--------------------------------

oy |
the fundamental law. N
R Vitx+Y(@-x? _ 2 |
prove that —— e A | i 3 X, nearly. (8)
ix method to solve: )
X+y+z=2
2X—y—z=2




BOARD OF INTERMEDIATE EDUCATION, KARACHI

INTERMEDIATE EXAMINATION, 2017 (ANNUAL}

Time: 20 minutes MATHEMATICS PAPER II Max. Marks:20
(MODEL QUESTION PAPER)

SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS )

NOTE: i) This section consists of 20 part questions and all are to be answered. Each question carries one mark.
i) Da not copy the part questions in your answerbook. Write only the answer in full against the proper
number of the question and its part.
il) The use of calculator is allowed. All notations are used in their usual meanings.

1. Choose the correct answer for each from the given options:

i) The domain of f(x) = i—’:—i is :

*R—-{1} *R—-{-1} *R—{0} oo
i 11 .
ii) IfA= {1,;,;, L }, then L.u.b. and g.L.b. of A are respectively:

*1and 0 *0and 1 * 1 and oo * oo and 1

i)  Ifafunction f:R - Ris defined by f(x) = {2 B E’“Re_% , then the range of fis:

*{0,1} *{0} *{-1} *{y

iv) The angle formed by y = x with x —axisis:

%135 * 45° *Q0° * 180°
V) If the slope of a line is positive, then its inclination will be :
* acute angle * obtuse angle * right angle * 00

vi) The equation ax? + 2hxy + by? = 0 represents two real and distinct lines if :
*h®—ab<0 *h’—ab>0 *h?—ab=0 *a+b=0

vii)  The angle of inclination of the line 7x + 3y = 9is :

* tan~1(— g) * tan~1(— ;) * tan‘l(g) * tan”i(%)

viii)  If two linear equations have the same coefficients of x and y, then the lines will be :
* Parallel * Perpendicular * Intersecting * Congruent

ix) If f(x) = sin(sinx), then f '(x) = :
* cosx. cos(sinx) * —cosx.cos(sinx) *cos(sinx) * cos(cosx)

X) Ifv = %nra, then the rate of change of volume of a sphere with respect to its radius is:
* 4qrr? oapp* * 8nr * In* i

xi) J Ine*dx =:

ine* X2
iy 5 bl Sine e Teed ‘T OE

xii) [dsinx =
* —CcosX * sinx * —cosx+c *sinx + ¢

xiii) An antiderivative of a function is also called :
* Integral * Integrand * Derivative * Differential

Continued on the next page.......uww.
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*2x2 4+ 2y24+2x—-3y=0
*x24+y24+2x+1=0

* Centres

* parabola

*\2

*P

* Diameters

* o2 = bR P

* hyperbola

#
8|S

* 41

e
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| BOARD OF INTERMEDIATE EDUCATION. KARACHI
% INTERMEDIATE EXAMINATION, 2017 (ANNU

T:ime: 2 hours 40 minutes MATHE_M_AT|C§ PA_E_ER =i Max. Marks: 80
; (MODEL QUESTION PAPER) ' :

SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 50

QOTE: Attempt any TEN part questions from this Section 'B', selecting at least THREE part
' from each question. You may choose the tenth part question from any one sub-section.
questions carry equal marks.

ANALYTIC GEOMETRY ( STRAIGHT LINE ) & VECTOR EB

2. i) The vertices of a triangle are A(—2,1), B(4,—-3) and €(6,4). Find the equation of the ms
through C.
ii) Find the equation of the line perpendicular to 2y = 3x — 7, passing through the
. intersectionof 2x + 3y + 1 =0andx + 4y —1=0.

iii)  The gradient of one of the lines ax’ + 2Axy + by’ =0 is one third that of the other, show t
3h% = 4ab.
iv)  Find a unit vector perpendicular to both the vectors d = { + 2j — 3k and b = 3i — 2k ,
sin(d, 3) '

1 | ‘ V) Find the volume of the parallelepiped whose three adjacent edges are represented bythlr
; d=-204+5/+3k,b=i—3j+2kand &=30+]—4k.

ANALYTIC GEOMETRY ( CONIC SECTIONS )

3. i) Prove that the two circles x? + y? — 2hx + ¢ = 0 & x? + y? — 2ky + ¢ = 0 touch

each other internally, 1f - + _—= z

ii) Find the equation of the circle through the points (—1,2) & (—3,4) and touching the M
y=0. :

iii)  Find the coordinates of the foci, equations of the directrices and transverse axis of the
(x+2)? ] (y+1)% _ 1

16 C SR

iv)  The length of the minor axis of an ellipse is 6 units and its foci are (0, +4). Find the equ:
the ellipse.

V) Find equation of the parabola whose focus is (5, —3) and directrix is y — x = 1.
CALCULUS

S_ “
4. ) Find the derivative by the First Principle at x = a € D(f) of the function f(x) = s!mt;. » j

if) Evaluate any two of the following:
. i x(cose'c:z —cot x) b) lin-n In (1 e )
x—0 sin” x X-—pa X

| y=-1 y -1

iii) Find the approximate value of cos29°, using differentials.

iv)  Iff:(~2,6) - Ris given by f(x) = x* forallx € (~2,6), find f (~3), image of ze
image of 6. Does there exist a real number x such that f(x) = —=17?

Continued on the next page
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area, above x — axis, under the curve Pie i y? = 1, between the ordinates

OR

" ; TIC sin?2
he differential equation —% = ——:,——2’- .
dx cos“2x

SECTION ‘C’
(DETAILED-ANSWER QUESTIONS) Marks: 30

TWO questions including Question number 5 which is compulsory.

‘of the following: (16)

£dx ii) f(x:_g){/x’ —4x+5 dx

0

4 : (}’4‘2) e”
xdx V) y. s

T2t 2
Tiaid vi) | Edy (Using trigonometric substitution)
| B o

1#3’*) and (x5, v,) are the coordinates of the extremities of a focal chord of the
la y? = 4ax, prove that x,x, = a? and y;y, = —4a?. @

he measures of the angles of the triangle, the equation of whose sides are x = 1,
—5=0and y—x+ 1= 0. Also find its area. )

mid point of a segment bounded by (2, —3) and (—6,1). ‘B’ is a point

‘distance from (—4, —3) to (0,3). Find the equation of AB . (7
the extreme values of the function f(x) = x(x + 1)(x + 2) ¥V x € R. 0
OR
of any two of the following: )
"';ﬁ-f_i—_w '-'FJ’S = in(x3 _ys') | i) y = (sec‘lx) Inx

x =sint® + cost?, y=2sin~t+ cost

----------- BERasrsve s RN R a B
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BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION, 2017 (Annual

Time: 15 minutes MODELQUESTION PAPER Max. Marks: 09
(BIOLOGY PAPER - 1)

BOTANY (THEORY)

(Science Pre-Medical Group)

SECTION ‘A’
MULTIPLE CHOICE QUESTIONS) — (M.C.Os.

NOTE: i) This section consists of 18 part questions and all are to be answered.
Each question carries 2 mark.
ii) Do not copy the part questions in your answerbook. Write only the answer in full against the proper

number of the question and its part.

1. Choose the correct answer for each from the given options:

i) Among the following, this one is prokaryote:
i Euglena * Chlamydomonas * Nostoc . Ulva
ii) The symbiotic association between Algae and fungi is called:
i Lichen » Mycorrhizae Ly Thalophyta . Bryophyta
iif) A serious infection of lungs caused by fungi is known:
- Histoplasmosis " Plasmolysis " Flue - 2 i3 -
iv) Amoeboid stage of slime mold is called:
¥ Fruiting body » Sporangia i Spore " Plasmodium
v) Capturing and conversion of energy and its utilization in metabolic activities is known as :
" Photosynthesis " Respiration L Bioenergy 2 Catabolism
vi) Seed formation is the characteristic feature of :
o Silopsida » Sphenopsida * Spermopsida . Pteropsida
vii) This one of the following processes produces the most ATP molecules as per glucose molecule consumed:
» Alcoholic fermentation * Glycolysis * Latic acid fermentation  *  Kreb cycle
viii) All modes of nutrition are found in kingdom Fungi except:
* Parasitic o Saprophytic . Ingestive - Pred:_alory
ix) The family Fabaceae includes a member that is used against snake bite:
i Glycyrrhiza glabra  * Butea monosperma * Clitoria ternatea  * Arachis hypogea
X} This nutrient is responsible for opening and closing of stomata:
. K . N . Mg ° * P
xi) The difference between the free energy of water molecule in pure water & the free energy of water molecule in a
solution is known as:
v Osmotic potential o Water potential * Solute potential * Pressure potential
xii} Sometimes carotenoids can accept energy from chlorophyll. This is known as:
* Photorespiration i Photoreception * Photophosphorylation *  Phototropism
xiif) ; Spikelet inflorescence is the characteristic feature of :
* Solanaceae . Poaceae " Fabaceae " Rosaceae
xiv) About 400 million years old vascular plant is:
- Psilotum i Rhynia » Equisetum " Selaginella
XV) If a tuft of flagella is present only at one pole, it is known as:
» Atrichous L Lophotrichous  * Peritrichous - Amphitrichous

xvi) Closcl)-/ related families are grouped together in:
< Class . Order * Genus . Species

xvii) ‘This organelle releases oxygen:
o Mitochondria = Chloroplast » Ribosome * Golgi body

xviii)  This organelle is also known as Suicide Sac:
s Peroxisome o Glyoxysome * Lysosome 0 Ribosome

B e 6 4 e 4 6.4 6.4 ¢ L
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BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION, 2017 (Annual
. Time: 1 hour 45 minutes MODEL QUESTION PAPER Max. Marks: 3
| (BIOLOGY PAPER - 1)
BOTANY (THEORY)
(Science Pre-Medical Group)

SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 22

i) Name the three Lysosomal disorders and their consequences.

i) Chloroplast is an energy-converting organelle. Justify.

iii) Name the three layers of cell wall and give their functions.

iv) Give the name of the organelle in the given diagram and label the marked parts.

: v) Why do insectivorous plant use insects as food?
| vi) Name the different types of Ascocarps and also mention their differences.
vii) Define the term Heterospory.
viii) Point out only two reasons that Spermopsida is a successful group of land plants.
ix) Write the botanical names of any two of the following:
a) Potato b) Tobacco c) Peanut d) Wheat
X) What is the name of energy trapping and energy converting process?
xi) Name the two processes in which gaseous exchange occurs in plants.
xii) Name the three distinct phases of Carbon cycle.
xiii) Draw the efficiency of Food chain.
Xiv) Write the names of three pathways available for water to enter in the xylem.
xv) Why is Transpiration also called a necessary evil?

3. Attempt any Six part questions. Each question carries two marks. Answer should not exceed more than five lines.

i) Write a note on Cell theory.
ii) Why are Mitochondria known as powerhouse of a cell?
iii) What are Photosynthetic bacteria?
iv) Only name the different ways of Nutrition in Fungi. Explain any one.
V) ‘Write a note on any one
a) Lichen b) Yeast
vi) Draw the outline of the classification of Kingdom Plantae.
vii) Write a note on Alcoholic fermentation.
viii) Write note on any one of the following:
a) Nucleus b) Ribosome c) Endoplasmic reticulum
ix) Write different ways of transmission of Viruses.
X) Write a note on any One of the following:
a) Evolution of Leaf  b) Evolution of Seed

SECTION ‘C?

(DETAILED ANSWER QUESTIONS) Marks: 14
Note: Attempt any Two questions from this part. All questions carry equal marks.

4. Define Photosynthesis. Describe the light reaction of Photosynthesis.

5. Give floral diagram, economic importance and two botanical names of familiar plants of any two families:
§ i) Solanaceae ii) Fabaceae iif) Rosaceae

1: 6. Describe the life cycle of Ascomycota OR Zygomycota.
1 OR
Describe the life cycle of Moss or Fern with reference to alternation of generation.

------- KKK K mmmmmmmm




- RN TN (TR
(UL nrelg SFUE Iag s pl 52

AN Wiz =Pl AU wors oF |1 o
te b (el 12/) _»

,x,:uy;.w}m.,,m_q_..ﬁuﬁi b’dlrﬂ.. é{ /{-.«U:?Laufrdszwd 3l )
—& e ML it Lysosomal disorders of (i)
-2 esb_c Organellesh ./ x/(3t7Chloroplast (i)
~e bt LSl (i)
2L rt& U235l @_urtt’organellea.ﬂé.:{; (iv)

< b

Ut & AU e 2o bl Vi sy 322 (V)
-&- AL st Ascocarps—i®  (vi)
-éwu:d’ ZAJMJ Heterospory  (vii)
- gﬁ:uﬁ;g,(a}ﬁ:s:(jfgﬁ_nuf KUny X6 LILSperomopsida  (viii)
i tetdtelndle vtdioner (%)

o O B @ G AL
fertU ¥ processd bl S I FeB07 (%)
gt U DAL S EE AL VR S ()
-ngLpha%sﬁl:uﬁ'LCamon cycle  (xii)
-&k UK Efficiency of food chain  (xiii)
-t fotXylemdL e Pt i u Bkl (xiv)
?ﬁ;.u'i}‘::uw‘ugﬁanspirationfc;.t‘tgulu:d; (xv)

-m»p;—.u,)vég..,m -g,{_s‘:ftﬁ"fédlfﬁ-é{f:bglﬁa‘:@UlfdsZ{JfagﬁJ_jb» -r
i FsE )
?q_t'@tfu[ powerhouse § cell ¥ Mitochondria (i)
Uty Photosynthetic bacteria (i)
ol v L U FPL L S P e Nutrition AFung]  (v)
sAaii s’ W
Yeast () Lichen ()
_ﬁugoutlinegfdk.,md’ Kingdom Plantae  (vi)
-5 J;Alcoholic Fermentation  (vii)
@l iy Lis”  (vii)
oplasmic reticulum (&) Ribosome (..) Nucleus (i)
23 kil Transmission Virus  (ix)
2o defis”
r@ﬁb’@ (..._.') r(ﬁl'(&' (=)

(vl 2d=) ¢

Ut B L Wy B 2y fe 2 L e Wy S o) LS
-é@?&:J:Aﬁlﬁé[}%}uﬁ -ﬂtéy.iud /‘U....-,-,jt'ay -
& &rb&b?ﬁu»{;ﬁuﬂwl(? V:(Dg|5d1ﬁ£ ;L“mf( eSS -0

Rosaceae (&) Fabaceae () Solanaceae (i)
_25 7= o0 Ascomycota | Zygomycota -1

{
-2kl Femn | Moss:-_.yé.d‘ibl;

-
e et e e e




a3

BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION 2017 (ANNUAL)

Time: 15 minutes MODEL QUESTION PAPER BIOLOGY PAPER - I Max. Marks: 08
BOTANY (THEORY) |
(Science Pre-Medical Group)

SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) — (M.C.Os.
NOTE: i) This section consists of 16 part questions and all are to be answered.
Each question carries %2 mark.
ii) Do not copy the part questions in your answerbook. Write only the answer in full against the proper

number of the question and its part.

1. Choose the correct answer for each from the given options:

i) The simple, unbranched sclereids are called :

» Stone cells 3 Airenchyma

* Parenchyma . Collenchyma
ii) This hormone prevents genetical and physlologlcal dwarfism in plants:

¥ Abscisic acid Gibberellin " Cytokinin " Auxin
iii) In this growth phase, cell is not divided but it becomes enlarged and elongated:

» Formative phase * Elongation phase

- Stationary phase ¥ Maturation phase
iv) The study of the relationship between living things among themselves and with their environment is called:

o Synecology * Autecology » Physiology ¥ Ecology
v) In grassland biome, the rainfall is usually: i

" 30 to 75cm " between 75 to 100cm . below 20cm * between 100 to 125em
vi) All of these are topographic factors except:

% Altitude o Slope . Exposure e Pedogenesis
vii) A change in the normal chromosome number is known as:

- Aneuploidy - Heteroploidy hs Euploidy L2 Polyploidy
viii) It is a type of orderly or progra.mmed cell death:

» Necrosis Mitosis i Apoptosis " Amitosis
ix) All of these are types of mutagens except:

3 Ionizing radiation ~ * Exposure to sunlight * Ultraviolet radiation  * Chemical mutagen
x) Loss of excess amount of water in the form of droplets is known:

y Excretion m Transpiration A Guttation o Osmosis
xi) This is a kind of inflorescence in which flowers are unisexual and sessile, covered by spathe:

o Raceme o Spike * Spadix i Catkin
xii) In one complete turn of DNA the number of nucleotides are:

p 2 i 5 " 10 . 20
xiii) A hormone produces during adverse environmental conditions which inhibits growth is called:

» Cytokinin v Abscisic acid » Auxin " Florigen
xiv) A process, in which a gene may move from one place to another on the chromosome is called:

i Transcription ¥ Transposition i Translation " Transpiration
xv) The multiple effects of a single gene are known as:

" Phototropy 3 Pleiotropy * Geotropy » Thermotropy
Xvi) A cell division without the formation of spindle is called:

- Mitosis . Meiosis i Amitosis ¥ Cleavage

RENEERSNURERINE 410,6'0.0.¢'¢ o' CEEEEEE St |
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BOARD OF INTERMEDIATE EDUCATION HI
INTERMEDIATE EXAMINATION 2017 (ANN

' Time: 1 hour 45 minutes (MODEL QUESTION PAPER) BIOLOGY PAPER — Il Max. Marks: 32
| BOTANY (THEORY)

(Science Pre-Medical Group)

| SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 20
2. Attempt any Ten part questions. Each question carries one mark. Answer should not exceed more than two lines.
i) Define Autosomes and sex chromosomes.
ii) Define any two from the following terms:
a) Chromatid b) Centromere c) Chromomere
iii) Mention the number of chromosomes in the following species:
a) Pisum sativum b) Sugarcane

iv) If the sequence of the nitrogenous bases of DNA of one chain is ATTGCAT, what should be the sequence of its
partner in the duplex?

v) Define Ecological nitch.

vi) Draw ecological levels of organization.

vii) Define positive interaction.

viii) How is Ammonia converted into nitrates by nitrifying bacteria?

ix) What is meant by Giant Ecosystem?

X) Distinguish between Metaphase and Telophase.

xi) What is the importance of interphase in cell cycle?

Xii) State the law of Segregation.

xiii) What will be the result of a cross between colour-blind female and normal male?
Xiv) Why is Meiosis called reductional cell division?

XV) Define the term Monoecious or Dioecious.

3. Attempt any five part questions. Each question carries two marks. Answer should not exceed more than five lines.

. i) Differentiate between any One of the following:

i a) Transpiration & Guttation b) Racemose & Cymose Inflorescence
ii) Describe the phases of growth in plant.
iif) Define various aspects of Homeostasis.

iv) Write a note on the significance of secondary growth.

v) What is Chromosomal theory of heredity?
|
| vi) Write note on any one of the following:
i a) Alkaptonuria b) Phenylketonuria

i vii) Write a note on Human disorder due to abnormal number of chromosomes.
1‘ viii)  Describe Neritic OR Oceanic region .

! SECTION ‘C’
' (DETAILED-ANSWER QUESTIONS) Marks: 12

Attempt any Two questions from this section. All questions carry equal marks.

4. Discuss Watson & Crick model of DNA with diagram and its replication.
- % Define Mitosis. Describe the various stages of Mitosis with labelled diagram.
OR

Discuss Sex-linked inheritance in humans with any one example.

6. Define Abiotic component. Name its types and describe only climatic factors.
e KK XK KKK KKK e mm e
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-& ¥ 7 Sex chromosomes.s/Autosomes (i)

B e i (i)

- ¢ Centromere b 4 Chromatid A4
Sy Chromosomesufrlﬁus.yﬂ (iii)

i ¥
haind(l e L 17 ATTGCAT /Chaino i DNA s Suri@ A (v)
_é._gfl! Ecological nitch  (v)
“Z ke el Senldrt (i)
~25 Interaction=t  (vii)
Ut S £ UtNitratess” Ammonia ¢ 40" nitrifying bacteria  (vii)
) f¢sl= Giant Ecosystem  (ix)
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i ! BOARD OF INTERMEDIATE EDUCATION, KARACHI
. ' INTERMEDIATE EXAMINATION, (ANNUAL) 2017
'~ | MODEL QUESTION PAPER — ZOOLOGY PAPER - |
i ' (Science Pre-Medical Group) §
: Time: 15 minutes Max. Mar
| " :
5 ; SECTION ‘A’
[ { ULTIPLE CHOICE QUESTIONS) — (M.C.
i TE: i) This section consists of 16 part questions and all are to be answered.
¢ ! Each question carries 2 mark. ;
1 | ii) Do not copy the part questions in your answerscript. Write only the answer in full against the p
i | number of the question and its part,
1. Select the most appropriate answer for each from the given options:
| i) Deuterostomes include phylum:
| . * Annelida *  Mollusca *  Arthropoda ¥ Echinodermata
i {1 1) Sponges are usually:
i * Symmetrical * Asymmetrical  * Radially bisymmetrical* Bilaterally bi
iii) The mechanical digestion in Cockroach take place in:
' - A
F A
e
| | QgD
\
' * A * B * C LB
iv) The secretion of Antibodies of B-lymphocytes cells provides:
! | » Cell mediated immunity Passive immunity
! "' Humoral immunity » Permanent immunity
-‘ V) Cholecystokinin stimulates the secretion of:
F * Bile juice * Gastric juice ¥ Pancreatic juice * Intestinal juice
i vi) Name the product formed in the equation: Glucose + Glucose —> ? +H,0:
' * Sucrose  * Maltose * Lactose * Fructose
vii) Characteristics of Deuterosomes are:
| * spiral cleavage, blastopore becomes anus * spiral cleavage, blastopore becomes mouth
: i radial cleavage, blastopore becomes anus * radial cleavage, blastopore becomes mouth
i viii) This provides the necessary information needed to control the life of the cell:
f * Gene * Chromosome  * DNA * RNA
| ©*®
f | lix These two of the groups combine to form a peptide link:
| ; g o NH -c-cood (3)
| 3O
! * 1 and 2 . 1 and 3 3 2and 3 . 2and 4
} X) An enzyme increases the speed of a reaction: .
* By adding the activation energy 2 By lowermg the activation energy
! Ll By decreasing the concentration of reactant * By increasing the concentration of m
xi) Magnesium is an inorganic activator for the enzyme:
¥ Manganase * Carbonic anhydrase* Hexokinase - Phosphatase
Xii) The number of alveoli in each human lung is:
* 250 millions * 300 millions § 350 millions » 450 millions
‘ xiii) The correct order in Arthropods with most legs to fewest legs is:
: - Arachnids ---- Crustaceans ---- Insects ---- Myriapods
| " Crustaceans ---- Myriapods ---- Insects ---- Arachnids
i . Myriapods ---- Arachnids ---- Crustaceans ---- Insects
¥ Myriapods ---- Crustaceans ---- Arachnids ---- Insects
1[ Xiv) The number of spiracles present in Cockroach is:
i § 6 pairs i 8 pairs " 10 pairs* 12 pairs
; xv) This type of Mosquito lives mdocrs and spreads malaria:
. ad Anopheles Culex * Aedes M Ciliata
xvi) One complete heartbeat lasts for about:
i L, 0.5 second » 0.6 second * 0.8 second * 0.15 second
; mmmmm et XXX XK XX KKK mmmmmm e
I
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BOARD OF INTERMEDIATE EDUCATION, KARACH]I

INTERMEDIATE EXAMINATION (ANNUAL) 2017 69

hour 45 minutes (MODEL QUESTION PAPERS) BIOLOGY PAPER - | Max. Marks; 32
ZOOLOGY (THEORY)
(Science Pre-Medical Group)
SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 20

Attempt ten part questions in all. Select five from Reasoning Questions and five from Non Reasoning Questions.
Reasoning Questions

i) Why is Butter solid and Mustard oil liquid at room temperature?

ii) A person eats chicken broast. Name the enzymes that will digest this meal in the alimentary canal.

iii) Why is the higher percentage of CO, transported by water of RBC as compared to water of Plasma? Also give
the equation of this process.

iv) Why is water an amphoteric molecule?
v) How do birds fly in air easily?
vi) Distinguish between inductive reasoning and deductive reasoning.
wvii) How is the concentration of the product always kept within a certain range?
viii) Why Hydra has both types of digestion?
(b) Non Reasoning Questions
ix) Write the affinities of Echinodermata.
X) Write the name of the figure given below and label the parts marked A, B and C.

Note:

xi) Write a note on lymph node.
Xii) What are the different transformational stages of malarial parasite in human RBC?
Xiii) Write the example of each class.

(a) Hexactinellida

(b) Scyphozoa

(c) Turbellaria

(d) Amphibia

Xiv) Write the names of the marked parts and mention the site of exchange of gases,

XV) Explain the role of memory cells in long term Immunity.
xvi) Define Mantle. Write the names of three classes with the example of Mollusca.

SECTION ‘C’
(DETAILED-ANSWER QUESTIONS) Marks: 12

Attempt any Two questions from this section. All questions carry equal marks.

What do you mean by Polyp and Medusa? Mention their functions describe the characters of that phylum and its classes
with examples in which cnidocytes are present,

i OR
Describe the basic fundamental character of phylum chordata. Write the characters and examples of that class and its sub-
classes in which hair are present.

Define mechanical and chemical digestion. Describe the chemical digestion of macromolecules with reference to substrate,
specific enzymes, pH and product.

OR
Write about the naturally occurring compounds which are insoluble in water but soluble in organic solvent. Mention
various groups also.

How are heart actions initiated and controlled? (Reference should be made to SAN, AVN and Purkinje fibers).
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MODEL QUESTION PAPER &
ZOOLOGY PAPER ~ Il (Pre-Medical Group)

Time:15 minutes Max. Marks: 8
SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) — (M.C.0s.}
NOTE: i) This section consists of 18 part questions and all are to be answered.
Each question carries '4 mark.
ii) Do not copy the part questions in your answerscript. Write only the answer in full against the proper

number of the question and its part.

1. Select the most appropriate answer for each from the given options:

i) The end product of urea cycle is:

» Arginine *.. “rea » Ornithine G2 Citruline
ii) About liters volume of blood flows through the human kidneys each day:

. 180-200 litres *  400-680 litres *  800-1000 litres L 1100-2000 litres
iii) This one of these bone and name do not match:

*  Longbone-Femur *  Short bone- Clavicle * Flat bone- Scapula * Irregular bone - vertebra
iv) Human eye muscles contract in:

® 0.01 sec * 0.001 sec " 0.1 sec * 1 sec
V) This ion is bound to troponin:

o Mg " K " Na " Ca
vi) The activity of the two cerebral hemispheres is coordinated by:

Pons 3 Corpus callosum * Limbic system * Cerebellum

vii) Depolarization and repolarization of neurolemme occurs during:

4 RMP s Synapse » Action Potential * Cleft
viii) This injection is given during an emergency treatment in Cardiac arrest:

. Angiotensin ” Epinephrin * Cortisol " Calcitonin
ix) In testes, the process of apermatogenesns is completed in:

. 3 weeks 5 weeks . 7 weeks o 10 weeks
X) Corpusluteum secretes this hormone called:

. estrogen " Progesterone » Androgen i Leutenizing hormone
xi) The situation where one embryonic tissues influences on other so that the responding tissue is differentiated is

known as:

. Invagination s Induction . Involution " Insertion
Xii) Blastopore is found in:

» Cleavage - Morula * Blastula ” Gastrula
Xiii) This technology opened the door of evolution by artificial selection:

¥ Biotechnology ® Invitro technology

* Recombinant technology . Transgenesis
Xiv) This compound is produced by bacteria as an artificial sweetener;

» " Phenylalanine i Alkapton L4 Glutanic acid 5 valine
Xv) In Arachaeopteryx, this number of tail vertebrae were present

o 12 i 15 18 " 20

xvi) This diagram is that of the embryo of a bird:

A R S

L A " B » C o D
xvii)  Imbibition of water by soil particles is said to be:
" Hydroscopy . Hygroscopy . Capillary action * Salinity

xviii)  This enzyme is naturally found in bacteria to protect them against bacteriophage:
* Restriction enzyme  * Ligase o Polymerase i Isomerase
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Time: 1 hour 45 minutes (MODEL QUESTION PAPERS) BIOLOGY PAPER - i Max. Marks: 36

ZOOLOGY (THEORY)

(Science Pre-Medical Group)
SECTION ‘B’

(SHORT-ANSWER QUESTIONS) Marks: 22
Note: Attempt any Eleven part questions in all. Select six questions from Reasoning Questions and five from Non Reasoning
Questions. All questions carry equal marks.

2. (a) Reasoning Questions

i) How are waste products from the blood removed from the body in case of renal failure?
ii) Which type of learning is this? Explain.

- =T -] W?

Ff_ o e RS
iii) How are identical twins produced?

iv) Calculate through Hardy Weinberg equilibrium.
Allele A = P has frequency of 0.9 and Allele a = q has 0.1 frequency.

V) Why is Restriction enzyme called scissor?

vi) How does counter current multipillar system create a concentration gradient in medulla?

vii) If a newly born baby suffers from blindness, which sexually transmitted infection may have been involved?
viii) How is the trembling of muscles controlled?

ix) What are deforestation and afforestation?

() Non Reasoning Questions

X) In starfish, water vascular system helps in locomotion. Explain.
xi) Name the type of receptors found in hairless area of the human body.
xii) Define Cleavage. Why is cleavage in birds discoidal?

xiii) Discuss the joint that can move an organ by 360°

Xiv) What is DNA fingerprinting? Give its advantages.

xv) Discuss the Mutation theory in view of Evolution.,

xvi) Give the names of antagonistic muscles which are involved in Gleno-humeral movement.

xvii)  Label the diagram:

SECTION ‘C’
(DETAILED-ANSWER QUESTIONS) Marks: 14

Attempt any Two questions from this section. All questions carry equal marks.

Z
<
=
o
o2

w

Mention the means of thermoregulation. What is the role of temperature in mammals during cold and hot condition? Also
mention the role of Hypothalamus.

OR
Define Chemical Coordination. What is the role of Hypothalamus on the master gland? Give the names of hormones
secreted from master gland and state their functions.

4. Describe in detail Gene therapy and Amniocentesis. Write any two names of genetic diseases.

OR

Explain contraction of skeletal muscle with reference to nerve impulse, Ca™ ions and energy.

5. Draw a neat & labelled diagram of Male reproductive system in Man. Also describe the functions of different organs.
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BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION, 2017 (Annual)

MODEL QUESTION PAPER-COMPUTER SCIENCE PAPER - | Max. Marks: 15

Time: 20 minutes
SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) — (M.C.Qs.)

NOTE: i) This section consists of 15 part questions and all are to be answered.
Each question carries one mark.
ii) Do not copy the part questions in your answer script. Write only the answer in full against the

proper number of the question and its part.

1. Choose the correct answer for each from the given options:

i) Hard copy of a document is:

*  Printed on printer " Stored in floppy 3 Store in CD ) Store in Hard Disc
if) Arrange in ascending order the units of memory TB, KB,GB,MB:

* TB,MB,GB,KB » MB,GB,TB,KB * TB,GB,MB,KB * KB,MB,GB,TB
iii) This one of the following is single-user operating system:

*  MS-DOS A UNIX > 08/2 » XENIX
iv) This bus is bi-directional:

*  Databus . Control bus -5 Address bus " Multiplexed bus
V) Each computer on a network is called:

*  Bus » Terminator # Node » Connection
vi) Both stations can transmit and receive data simultaneously in:

*  Simplex mode " Half duplex mode ¥ Full duplex mode * Synchronous
vii) In e-mail, ‘e’ means:

*  Electrical . Electronic . Easy % Echo

viii) The virus that spreads in apphcanon software is called:
*  Boot virus Macro virus " File virus " Antivirus

ix) A printer that prints by type strlkmg is called:

*  Impact printer Non-impact printer * Thermal printer * Inkject printer
X) NIC stands for:

*  Network Interface Card = Network Interchange Card

*  National Identity Card s Noise Interface Card
xi) A computer virus is a:

*  Program by Hardware - Firmware " Bacteria

Xii) This technology is used in Compact Disc:
*  Mechanical * Electrical . Electromagnetic * Laser

xiii) PC (program counter) is also called:
*  Instruction pointer ¥ Data counter " Memory pointer * File pointer

xiv) This network topology places a hub in the center of the network:

s Bus * Ring * Star v Mesh
XV) Main memory is also called:

*  Primary, internal w Primary, external

*  Internal, external v Auxiliary, main memory
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BOARD OF INTERMEDIATE EDUCATION, KARACHI
INTERMEDIATE EXAMINATION , 2017 (Annual ‘

MODEL QUESTION PAPER COMPUTER SCIENGE PAPER - | Max. Marks: 60
rs 40 minutes
SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 36

- Answer any Twelve part questions from this section. All questions carry equal marks. Answer should not exceed 3 to 4 lines.

i .'EQ What is the function of Cache?

i) For what purpose is Barcode Reader designed?

i) Why is ROM called non-volatile memory?

i!f) Why are secondary storage required? How can you increase storage capacity?

4 How does network topology affect your decision to design a LAN?

ifi) Why is Star topology more efficient than other topologies? Give any three reasons.
What protocol can be applied when you want to transfer a file from source to destination?
In which scenario is satellite used? Defend your answer by giving any three reasons.

i }!x) How can you manage a network using a Router?

; x) Why is MoDem necessary in dialup network?

) What are the impacts of computer in our life?

1 Izﬂi) How is e-commerce beneficial in business?

: xiii) Draw and label block diagram of digital computer.
i xiv) What is the function of Accumulator register?
xv)  What are PUSH and POP functions in stacks?
xvi) Distinguish between serial port and parallel port.
xvii)  Write full form of:

i) IEEE i) TCP/IP i) LED
iv) BIOS ) HTML vi) ATM

xviii) How can a system be protected from viruses?

SECTION ‘C’
ETAILED- R QUESTIONS Marks: 24

Answer any Two questions from this section. All questions carry equal marks.
a) What are the functions of scanner?
b) Describe the important features of an operating system.

0) What is the impact of using computer in college education? Give three reason.

a) Draw the diagram of OSI model layer. Which layer of OSI model selects path to send data from

b one computer to another?
b Explain any two communication media in data communication.
B) Why are digital devices more efficient than analog devices?
a) Explain different types of buses in computer.
b) What is fetch cycle? Explain with diagram.,
c) What is computer crime? How can we protect our system from it?

e e e KKK KKK KKK - e e
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INTERMEDIATE EXAMINATION, 2017 {ANNUAL)
MODEL QUESTION PAPER COMPUTER SCIENCE PAPER - II Max. Marks: 15

Time: 20 minutes.

NOTE: This paper comprises Two independent options — (I) Programming Using 'C' and (I) Programming Using Visual
Basic. The candidates have to attempt any One Option, Programming Using 'C' OR Programming Using Visual
Basic, whichsoever they have offered.

NOTE:

OPTION —1
PROGRAMMING USING 'C’

SECTION ‘A’
ULTIPLE CHOICE STIONS) — (M.C.Os.

i) This section consists of 15 part questions and all are to be answered.
Each question carries one mark.

ii) Do not copy down the part questions in your answerscript. Write only the answer in full against the
proper number of the question and its part.

1. Choose the correct answer for each from the given options:

)

ii)

iii)

iv)

v)

vi)

vii)

viii)

ix)

x)

xii)

xiii)

xiv)

XY)

In C programming, "\ @'is used for:
*  Line break . Form feed o3 Alert . Carriage return

This one of the following is not an objects of MS- Access:
*  Table " Worksheets * Form " Modules

In Ms-Access, This data type is appropriate to store large text entries:
L . Memo . OLE ” Number

This number of relations may exist between tables in database:
Y * 3 * 5 * 1

The void in the parentheses after main specifies that the function take:
* noarguments * no return ¥ return value 5 do nothing

x—=y+1; means:

& TEr—p+l * x=-x—-y+1

* x=-x+y+l 5 x=x-y-1

This one of the following operator takes only integer operand:

* + * / * s * %

If n has the value 3, then the output of the statement:
printf(“%d%d”, n-++, ++n); ,
ek el ~ 4 5 * 4 4 > 2.3

ifa=9,b=3 and ¢ =2, then the expression:
(a— % *b%c)>(a%b) evaluates to:

B Balte . True i invalid * 0

If a file is opened in “w” mode, then:

*  Reading is possible * Appending is possible

*  Writing is possible " There is no any “w”’ mode

The statements following else in an if- else construction are executed when:

*  the conditional expression following if is false g the conditional expression following if is true
*  the conditional expression following else is false - the conditional expression following else is true
Data accessed must be sequential in:

*  Network database model . Hierarchical model

*  Relational model "' Flat mended

This language facilitates for describing the structure of fields record , files & program accessing rights:

*  Data definition language (DDL) - Data manipulation language (DML)

*  Data conhol language (DCL) > « Structure query language (SQL)

The rules / formats for using a programing language are called:
*  semantic * rule . syntax " module

This format specifier is used to print string;
b TG * % s as % d “‘ % o0
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paper comprises Two independent options — (I) Programming Using 'C' and (I) Programming Using Visual
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OPTION —-1I
PROGRAMMING USING 'VISUAL BASIC'

SECTION "A°
TIPLE ICE QUESTIONS) — (M.C.Qs.

i) This section consists of 15 part questions and all are to be answered.

Each question carries One mark.
ii) Do not copy the part questions in your answerscript. Write only the answer in full against the proper
number of the question and its part.

This property determines whether a control is dlsplayed to the user:
% . Hide - Show Visible " Enabled

The cancel button property belongs to this obj Ject :
*  Button Form Label . Textbox

When a condition in If....Then statement test true:
*  the next Else statement is activated * the next If statement is activated
*  the next Then statement is activated » the End if statement is activated

This selection process is an example of multiple branch from a single expression:
* IF..Then s Select case * Do...loop 4 For...next

What happens in a Select Case structure when a test value matches the test expression:
*  The corresponding block of statements is run » The next case test value is cheeked
*  The case Else statement is run » The Select Case construct is exited

In the For...Next statement the default value for the step is:

LR | * 0 * 1 * a2

A foreign key:

*  has nothing to do with the primary key o has different values than the primary key

*  is found in tables that do not have a primary key " is related to the primary key of a different table

This is the collection of interrelated data files and set of pmgram files to access them:
*  Database Data structure
*  Database Management system * Programming language

The column in a Microsoft Access table is called:
* Row - Record i Field " Tuple

In VB types, an integer can accommodate number from:
*  -2,147,483.648 to 2,147,483,647 i -32768 to 32767
* -3.40823e8 to-1.401298e-45 . 0 to 65535

The guantities which may change during program execution are called:
*  Variables ¥ ~ Strings " Integers . Constants

This control structure tests the condition only once:
* If - Then i For - - Next » Select Case * While --wend

This language facilitates for describing the structure of ﬁled records, files & program accessing rights:
*  Data definition language (DDL) Data manipulation language (DML)
*  Data control language (DCL) . Structured query language (SQL)

The aspect of DBMS software simplifies the process of generation an on-screen or printed out report is:
*  Access security N Report generator * Utilities * System recovery

Data accessed must be sequential in:
*  Network database model . Hierarchical database model
*  Relational database model i Sequential model

s e e XXX KKK KKK = mmmemn
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NOTE: This paper comprises Two independent options — (I) Programming Using 'C' and (II) Programming Using Visual
Basic. The candidates have to attempt any One Option, Programming Using 'C' OR Programming Using Visual
Basic, whichsoever they have offered.
OPTION —1

PROGRAMMING USING 'C’

SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 36

Note: Answer any Twelve part questions from this section. All questions carry equal marks. Answer should not exceed 3 —4
lines

2. i) Why is C language called * case sensitive language™?

ii) What will be the output of the following program segment?
for(i=1;i<3§;it++)
ifli==3)
continue;
else
printf(*“%d”, i);
iif) Write the printf{ ) statement to print the following phrases using escape sequence.
a) * The world is round”
b) How are you?
fid What is your Father’s name?
iv) What is the purpose of ++ and —— operators? In C- language?
v) Debug the following program segment
main( )
{inti=5,j=1;
for (=0, j<=ij+t)
printf{“%f”, &j);
vi) What are Reserve words or Keywords in C-language? Define only three.

vii) Write equivalent code of the following statement in while — loop format.

for (a = 1; a<=10; a++)
printf (“%d”, pow (a, a));

viii) What is composite key? Where do we use it?

ix) Write a program to compute the discriminant value using given formula
(hint: d =+/b* —4ac)

x) Write the order of precedence of operator in C.

xi) if s =1, b =2 then define the purpose of the given code segment.
b=s+b;
s=b-gs;
b=b-g;

xif) In which situation is one — to — may relationship used in database?

xiif) ~ Write a program using function to calculate area of triangle (hint 4 = % ab)
Xiv) What is data redundancy?

Xv) What is a query language and why is it a valuable aspect of DBMS?

xvi) Write different file opening modes in C-language.

xvii) What is the main purpose of report?

xviii)  Write equivalent C-statements.

2
a® —4ac 22 +2xv+ V2
*z=(x"-y)+(x+))* *b=l~*-——| v 2220
2a x +y
SECTION *C’
(DETAILED-ANSWER QUESTIONS) Marks: 24
Note: Answer any Two questions from this section. All questions carry equal marks.
3. a) What is a Loop? Define any two types of loops in C.
b) Explain the different data types used in C language.
c) Why is Relational Database Management System (RDBMS) widely used in database design?
4, a) Define function, what are the main reasons to develop a function?
b) How does the switch ( ) statement differ from else if statement? Explain with example.
c) What do you understand by referential integrity?
5 a) What are unformatted input-output (I/0) functions used in C? Explain with example.
b) Explain the different data types in MS- Access.
c) What is the conditional operator? Define the general statement.

S +.5'0'0's's '
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This paper comprises Two independent options — (1) Programming Using 'C' and (II) Programming Using Visual
Basic. The candidates have to attempt any One Option, Programming Using 'C' OR Programming Using Visual
Basic, whichsoever they have offered.

OPTION —1I
PROGRAMMING USING 'VISUAL BASIC'

SECTION ‘B’
(SHORT-ANSWER QUESTIONS) Marks: 36

Answer any Twelve part questions from this section. All questions carry equal marks. Answer should not exceed 3 — 4 lines.
i) If B=2, C=3, what does A=B=C output?
i) ‘What types of operators are used to compare two expressions?

iii) Write the structure of Select Case.

iv) Write the statement to declare the Array number which can hold 10 values of integer type data.
v) Write a function that inputs an integer number and returns its square.
i) Convert any three of following mathematical expressions into “Visual Basic” equivalent statements.
* A=nr? * y =3ab’ +3a’b * d=|b2—4a| * j=}ébxh
vii) In which situation is one-to-many relationship used in database?

viii) Write the steps to create the connection of VB program with MS Access database,
ix) What is IDE in Visual Basic?

X) Define Variable. Write a single difference between Local and Global Variable.
xi) Define form and state its tools used in VB,

xii) Debug the given code.

Dim Int (A), Int (B)
A=10

B=2;

Sum: =Add(A,B)
Debug : print A
Debug :PrintB
Debug : Print Sum

xiii) Write a program to generate the following series.
2468 ....100

Xiv) ‘Write the output of the following program.
Dim a As Integer
A=1
Do While a<=10
?7A
A =A+]
Loop
xv) How to create a table in MS ACCESS?
xvi)  What is the importance of key filed in database?
xvii)  What is dynast?
xviii)  What are the elements of User Interface in VB?

SECTION ‘C’
(DETAILED-ANSWER QUESTIONS) Marks: 24

Answer any Two questions from this section. All questions carry equal marks.

a) Explain the data types used in VB with examples.
b) What is a loop? Define any two types with examples.
c) How does the DBMS help in maintaining data in an efficient way?

a) ‘What are Active X controls? Explain any one of them.
b) Write a Function that returns Cube of an inputted number.
c) What is the use of data types in MS Access? Explain with examples.

a) What operators are used in Arithmetic calculation in VB? Explain with examples
b) ‘What is the use of MDI in VB programming?
c) Define VB script. Write all the tools of VB script.




